it
aal
Il
)I{:l
&
2
40
0z
0
I
E__J prm—

z
T
2
P

A

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
SX &M , 707,414 144,730,682 8,976,732
= ,605,358
s ,239,097
= ,953,741
Al ,909,218
A0 =2Xsd ,073,793 9,205,997 867,796
= ,916,247
< 328,748
Al ,828,798
MASS MEMHE &2 7,765,129 6,964,026 801,103
= , 194,540
= 13,776
Al ,556,813
SEAS SR & ,670,723 4,260,340 410,383
307 21201 A ,500,723 4,220,340 280,383
10 ALSISXAIEEE2IHEX ,500,723 4,220,340 280,383
OZSEAE =X 29 (8 A)
4,500,723,000& 4,500,723
402 RIZEXE0|I A 170,000 40,000 130,000
01 2I2tXrE (XA ) 170,000 40,000 130,000
CEES-= SX2 Js2YMY
170,000, 000& 170,000
218 s X2 ,408,750 1,962,500 446,250
= ,927,000
Al 481,750
307 21201 A ,408,750 1,962,500 446,250
= 1,927,000
Al 481,750
01 2724l 2,408,750 1,962,500 446,250
O2a=X XA 2,408,750,000& 2,408,750
= 1,927,000
Al 481,750
Fd=EUERT 2Y N& 245,000 236,900 8,100
307 21201 A 245,000 236,900 8,100
11T M3 SXAISEEX 245,000 236,900 8,100
OF=d¢ Ef3 2¢
245,000,000& * 1JH A 245,000
365! FEEY SHsS AN IF 15,073 15,500 AN427
201 LBt g 15,073 15,500 AN427
01 At 22l 9,073 9,500 AN427
O=Xlol g2z Joles HH
3,125& = 1,520 * 95% 4,513
O=Xlol SHsS 89M wus
4,000 * 950H * 95% 3,610




AN SXEHD
X KA
(=R B

= BN N

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

O=& JI&8 R3X ZAHH
100,000& = 1000 = 95% 950
03 #A2EHI 6,000 6,000 0

OSRKIALZRICH ol & Atclg=203l
6,000,000 6,000

fII1Ik= At 2t el 29,400 37,400 8,000
14,700
2,940
11,760

= M W

201 ¢er24| 12,500 12,500 0
6,250
1,250

5,000

e

= N W

01 AFR2t2lHl 12,500 12,500 0
OAtel 22l 82 6,500
Oszlo gzte 50,000& * 204 1,000

500

100
400
Ozl Xtz 5,000& » 300% 1,500
750
150
600
Og2= HA 1,000& * 4,000% 4,000
2,000

400
1,600

=z N W = H W

= W

400,000& = 15 6,000
3,000

600
2,400

= MW

301

e
HL
o
oy

16,900 24,900 A8,000
8.450
1,690
6,760

e

= N W

01 A28 H =62 14,900 22,900 A8,000
OfI2IDt= AH&Ezz2

ik
0
pa]
o

14,900, 000& 14,900

7,450
1,490
5,960

ANEs 2,000 2,000 0
=

= W

09 & Ara

25,000& = 109 = 83l 2,000
1,000
200
800

= M W




SN SXYBD

H: NAFU SN
S HASE MEOF £ (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S8 Atdl 22l X& 361,200 361,200 0
=2 252,840
< 10,836
Al 97,524
201 £B-2dH| 180,600 180,600 0
= 126,420
< 5,418
Al 48,762
01 At 22l 158,463 168,463 0
O=SHS AtdlZel 2 3,685,180% * 4304 & 158,463
= 110,924
< 4,754
Al 42,785
02 2324gl 22,137 22,137 0
OSHEXIZ0l AMEZ
42,900 * 43M A * 128 22,137
= 15,496
< 664
Al 5,977
301 LA F 180,600 180,600 0
= 126,420
< 5,418
Al 48,762
01 MEIBEE 263 180,600 180,600 0
ORJIIJt= Xgxzy 23X
4,200,000& * 43042 180,600
= 126,420
< 5,418
Al 48,762
AZEfel 220l ==X1& 3,000 3,000 0
301 LEtBA S 3,000 3,000 0
01 MEIBEE 2063 3,000 3,000 0
OAZAZOhO! 22104 XIS
500,000& * 64 3,000
ZEES 12007 DSA XA 22,000 22,000 0
207 Ao H| 22,000 22,000 0
01 289 22,000 22,000 0
O&FEES 120t AEHZ AL 22,000,000& 22,000
Mas 39&d N 3,200 3,750 A 550
301 LeBAF 3,200 3,750 A 550
01 MEIBEE 263 3,200 3,750 A 550
o=g&d N 800,000& = 49H 3,200
OtS=SEX AT 220 0HF ) 6,783 0 6,783
201 Let24d] 6,783 0 6,783




SM: =2XNEHY
& X gE0lo =X
o9l HASS 480

MEOHY &8 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 6,783 0 6,783
ONtS=X =MAE 220 (0tF )
7,139 * 1,000 = 95% 6,783
St 1,299, 164 1,232,471 66,693
=2 721,707
< 314,972
Al 262,485
SN BESAIE 222,802 211,628 11,174
307 gl2tol & 222,802 211,628 11,174
10 AL SXNAIEEE2EHEX 222,802 211,628 11,174
OBNISAXNTNAME 2%
222,802,000& * 1JH 4 222,802
C=0AE 2GRH 917,632 1,020,843 A 103,211
= 642,342
< 275,290
307 21201 A 917,632 1,020,843 A 103,211
= 642,342
< 275,290
10 M2 SXNANEHE2IHEX 917,632 1,020,843 A 103,211
od4d 29 917,632,000& 917,632
= 642,342
= 275,290
C=0AMAE JIsBZR(EX) 168,730 0 158,730
= 79,365
S 39,682
Al 39,683
402 RI2EX=20| A 158,730 0 158,730
= 79,365
< 39,682
Al 39,683
02 QI EAILEZ (01X S) 158,730 0 158,730
OHYd JIsEB2AY 158,730,000& 158,730
= 79,365
< 39,682
Al 39,683
EXIMHHEE 29 1,009,500 1,009, 500 0
EXMHE 29 1,009,500 1,009,500 0
207 O] 9,500 9,500 0
01 2339 9,500 9,500 0
OFF=SXME FLHEIL 9,500,000& = 13l 9,500
306 =43 1,000,000 1,000,000 0
01 &3 1,000,000 1,000,000 0
OF==XMHY 29 1,000,000, 000& 1,000,000




SM: SN
Ha: 20t 2@ el o XS
|

@2 31 e € SHE (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=t 22 22 ¥ X3 8,021,395 7,368,015 653,380
< 767,520
Al 7,253,875
34 0 & SHMXE 7,857,084 7,077,540 779,544
< 767,520
Al 7,089,564
E8HN 2g &€ X 7,007,614 6,577,150 430,464
301 LeBAF 6,252,000 5,956,200 295,800
01 Mel28E 6= 6,252,000 5,956,200 295,800
OHEHREA =% & AMEAZS XA 4,410,000
Odul=<(6- 268N BIGEN MEFLIRS
) 100,000& = 3,600 * 12& 4,320,000
OMERIZS 300,000 = 259 « 12& 90,000
O=gR3a4 222 XI& 90,000
Oo=2sdu+¢ 100,000& » 75% * 12& 90,000
O2NE=UAX B2l 1,752,000
O2=z0<=2 50,000& * 2,9208 » 12& 1,752,000
307 glz2+ol & 755,614 620,950 134,664
02 QB HAANEEE 454,140 451,950 2,190
ONYE U BT RTT AZAY
12,250,000& * 23] 24,500
oa0l=2d sXal& 08X =4 XNEAE
96,000,000& = 97% 93,120
oa0l=2d SXal& Al 018 XA
10,000,000& * 97% 9,700
O=s=E222€ Jl8Ad
15,000& = 9,200 * 97% 133,860
OREHE =ZFags MY
4,000,000& = 97% 3,880
OAIR SHENHAXE AL
5,000,000& = 97% 4,850
O6- 2583 7142 22HH A2 ALY
750,000& = 409H 30,000
OF=ZEdR=3 EFAXNE ALY
17,000,000& * 97% 16,490
ORE=EXa AKX A
17,000,000& * 97% 16,490
OLNZMERE H=AXE A
15,000,000& * 97% 14,550
ONd=s=2Z0IYels FFAIKXSE A
17,000,000& = 97% 16,490
Od0lzZda EFAX3E A
17,000,000& = 97% 16,490
OEEHEHIE HBFAXNE AL
17,000,000& * 97% 16,490




SM: SN
Ha: 20t 2@ el o XS
|

@2 31 e € SHE (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O6 - 252 R B3 H=AXE ALY
17,000,000& * 97% 16,490
OEx=LRRIXtal FF=AKXa At
15,000,000& * 97% 14,550
o&=3 E=AX3s AL 10,000,000 * 97% 9,700
OFHZ=Al MEZQ3 AIG(HESHE A
17,000,000 * 97% 16,490
03 IAHHMEE2HHIES 301,474 169,000 132,474
Od=SzZdR=E3 FFAAs 29
17,876,000& 17,876
ORE=2Xta EF=AXN3 2F 17,876,000 17,876
ONZHER3 H=AKXNS 2L 22,995,000 22,995
OFESZZ0ILs HF=AKE 29
17,876,000 17,876
od0lzda FFAKXa 29 17,876,000& 17,876
oFLFFUNE FFANE 29
20,995,000 20,995
06 - 25 NMRES A3 EFAMXs 22
20,995,000 20,995
0S+U2R2NE HEANS 29
22,995,000 22,995
o&Z=3 FFAXs 294 20,995,000& 20,995
O&HE=Al MHE&g=zols 23 20,995,000 20,995
OS+YLRINE ARA YUESZ N
100,000, 000& 100,000
SER3A4 2d=H AA 60,000 57,000 3,000
< 12,000
Al 48,000
301 LeEAF 60,000 57,000 3,000
< 12,000
Al 48,000
01 AR 2Z A 53 60,000 57,000 3,000
O=gs3A 2Azdl XA 60,000,000& 60,000
< 12,000
Al 48,000
HERISA ol XA 755,520 409, 440 346,080
< 755,520
301 LEd = 755,520 409, 440 346,080
< 755,520
01 MEI2EZE +6l= 755,520 409, 440 346,080
OFNERSA Fo=< X
20,000& = 3,148 » 12&8 755,520
= 755,520
Met=2olol & A} 14,550 14,550 0
307 21201 A 14,550 14,550 0




SM: SN
Ha: 20t 2@ el o XS
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Hel: K3 0 & SHAZ (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 14,550 14,550 0
o=l JIgdAM
15,000,000& * 13| * 97% 14,550
E2It= S0t3 st A 19,400 19,400 0
307 glz2tol & 19,400 19,400 0
04 DIZHHALALSE E X 19,400 19,400 0
OBEJIE &0t3 St A
0,000,000& = 13l = 97% 19,400
SsAdae & EFAM X 164,311 290,475 A 126,164
ssAg2e & EEdHA X 88,102 137,235 A 49,133
101 @124l 8,289 7,422 867
04 JI2ZtHZ22HEE = 8,289 7,422 867
OFEE (AR )22 8,289
(@F=H0; 65,400& » 2% * 82 * 63 6,279
(OGN = 26,0003 = 2% * 52 « 63 1,560
O4HE2E 37,500& « 12& 450
201 L2l 21,513 21,513 0

]l 10,593 10,593 0
& stet 150,000& * 53 = 5JH2A = 95% 3,563

X OEE T
100,0008 * 10% * 95% 950
OBEY U 22ASE 7Y
150,000%! * 125] * 95% 1,710
OEEg B3| LAY
700,0009 * 43| * 95% 2,660
OBEY ABASE 7Y
50,0008 * 3% « 123l * 95% 1,710
02 BBl 1,920 1,920 0
OBEEaTA M) L MoLER2, HIHE
Ha2 160,0008 * 12 1,920
03 #AI2 I 9,000 9,000 0
OBEHN 2Y 9,000
OBedte 70,0008 * 104 700
Oxgzlz 2,0002! * 2004 400
OZ3(ZE8) 150,0002 * 47H 600
OB 0l DKM 2RI = 5002 * 1,8004 900
OM3H(EHE) 2,0008 * 400% 0l 800
OXZE Kol 1,008 * 25 * 800% 1,600
0ol XHe & 1,0008 * 2,000 2,000
O T3t 1,500,0008 * 13l 1,500
OSeIH 2t 500,0008 * 12l 500
301 YU BHZ 33,300 33,300 0




2N
X ZH -
L= B

el

SA - ZE-B(EA) - NRAY - B S il &t o il RS2
09 HALAHIX A S 33,300 33,300 0
BEIE S3AFY Y A € FHEEAN
& ol 45,0003 = 700 31,500
OESL A EIHX B4
300,000& * 61 CHX 1,800
401 Al Bl 28I 25,000 75,000 A50,000
01 A& HI 25,000 75,000 A 50,000
Os&g 2 FUI(XYE) 10,000, 000& 10,000
O8EANE RAN(E=)22 15,000, 000& 15,000
6-25 JIE & A 29,100 29,100 0
307 21201 A 29,100 29,100 0
04 DIZHHALALSE E X 29,100 29,100 0
©6 - 25 DAt 30,000,000& = 13| » 97% 29,100
stE =& EHALK 5,820 5,820 0
307 gl2tol & 5,820 5,820 0
04 DIZHHALALSE E X 5,820 5,820 0
Ot M ESHAH  6,000,000& * 13 * 97% 5,820
=M BAT 5,820 5,820 0
307 glz2tol & 5,820 5,820 0
04 QIZFHALAIH B = 5,820 5,820 0
Oz=gEslaM LM 6,000,0008 * 13 * 97% 5,820
SEACY =2 2,600 2,600 0
307 glz2tol & 2,600 2,600 0
04 QIZFHALAIH B = 2,600 2,600 0
ClsALM F=2H 2,600,000& = 13l 2,600
ot =2 K 1,500 1,500 0
307 gl2tol & 1,500 1,500 0
04 DIZHHALALSE E X 1,500 1,500 0
OXZotEd =2 1,500,000& * 13l 1,500
ITsAEd =R 2,000 2,000 0
307 glz2tol & 2,000 2,000 0
04 DI2HHALAISE E X 2,000 2,000 0
OxsAEY F=2H 2,000,000& = 13l 2,000
ZHE8d =2 1,500 1,500 0
307 21201 A 1,500 1,500 0
04 QIZFHALAIH B = 1,500 1,500 0
OZHMSLHM =2H 1,500,000& * 13| 1,500
AHSEM =2 H 5,500 5,500 0




2N
X ZH -
L= B

el

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 5,500 5,500 0
04 DI2HHALALSE E X 5,500 5,500 0
OHMAHES F=2H 5,500,000& = 13l 5,500
S4H 3123 JI8dHAM 1,863 1,940 NTT
307 eIzl & 1,863 1,940 ANTT
04 QIZFHALAIH E = 1,863 1,940 NTT
OS4H 3- 123 JE&#A
2,000,000& * 13| » 97% * 96% 1,863
ZoH 3123 JIEdHAM 8,381 8,730 A 349
307 glz2tol & 8,381 8,730 A 349
04 DI2HHALAISE E X 8,381 8,730 A 349
OF2H 3- 123 JIE&#AM
9,000,000& * 13| * 97% * 96% 8,381
Ol 3- 123 JIS A 8,730 8,730 0
307 gl2tol & 8,730 8,730 0
04 DI2ZHHALALSE E X 8,730 8,730 0
O0I¥H 3- 125 JIE&AM
9,000,000& = 13l = 97% 8,730
3.128 ZAAHS ANRZIItHs 3,395 0 3,395
307 21201 A 3,395 0 3,395
04 DIZHHALALSE E X 3,395 0 3,395
O3.12= & Hs AMYUZIIUE
3,500,000& * 13 * 97% 3,395
LEHALEI SR =& 17,072,279 15,610,320 1,461,959
= 6,590,391
s 2,902,500
< 1,279,412
Al 6,299,976
SXAE Jl2dd =4 5,030,578 4,769,395 261,183
s 2,902,500
< 382,979
Al 1,745,099
A= ALE =& 9,790 9,125 665
201 L2l 7,790 7,125 665
01 At 22l 7,790 7,125 665
Os2RAHEM M 100,000& * 202 * 95% 1,900
O=g€2E0MN M=
10,000& = 1508 = 32 *» 95% 4,275
o8 +9 M 70,000& = 1000 = 95% 665
OS=TAA QI FX L =D
1,000,000& = 95% 950
203 R =&l 2,000 2,000 0




SN =SXHHD
HE: UBAS =T =X
STAMY JI20A =4 cHel E )

= - 4 14
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
03 AIZH =X 2= X H| 2,000 2,000 0
OAZEXNEL2FA 2,000,000 2,000
X SEALSIEX D8t 2= 7,560 7,560 0
201 2Et2A Y| 600 600 0
02 B32%H| 600 600 0
OMol S22k SEHEANAE SRB
50,000& = 12&€ 600
203 € R F=&d| 6,000 6,000 0
03 AIEH =X 2 F XY 6,000 6,000 0
O=X B SO U VAHL =
6,000,000& 6,000
307 2iz2to| & 960 960 0
01 s =t 960 960 0
oA X HIOF XS 10,000& ~ 8H » 12& 960
NEAIEHEIHM 29 162,654 130,054 32,600
307 QI2t0| ™ 162,654 130,054 32,600
02 AI2tAAMAIE E =X 56,260 29,100 27,160
OXSEAMIEEHEAM AIS 56,260
O3loH2YH ¥ SHSEAMELIXE
= 33,000,000& * 97% 32,010
OXNAANZEZZA =&
25,000,000 * 97% 24,250
03 QIZI X HAESIHIEX 106,394 100,954 5,440
OXNEAMIIBEEHESEAMN 24 106,394,000 106,394
MASS st Nl AMFH Ea N (ZTNEH) 10,045 20,820 AN 10,775
101 @121 H] 10,045 20,820 A 10,775
04 JI2ZtHIZ22NEE S 10,045 20,820 AN 10,775
OMAEE = -5 1D SMINKY AE - &
X & 2,008,830 * 1 x 5 A 10,045
32X E 23 A=A 237,100 225,700 11,400
307 2iz2to| & 237,100 225,700 11,400
02 QIZ2HA AAIE E X 9,700 9,700 0
OAMS=2XE2A3 AMY 9,700
OHWER3A XA 1,700,000 1,700
OotsaEA~E XA 8,000,000 8,000
03 AU EESIHES 177,400 166,000 11,400
OME=XEAG 29 177,400,000 177,400
11T AISIEXAIEE X 50,000 50,000 0
ORIZEAIBI 2 XA RIS AL 50,000
OO0IZEAISI S XIAF Al 2| ale
200,000€ = 1503l 30,000
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X ZH -
L= B

el
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Ji ne o
T
g
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x4 CERED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

OABI S X AIE SAMI L3 WS
,500,000& = 8% 20,000

MBS g2 AFE X 9,000 10,000 A 1,000

1,800
Al 7,200

H

307 21201 & 9,000 10,000 A 1,000

1,800
Al 7,200

H

MIEX 9,000 10,000 A 1,000
ANgos 249Ag XI& 9,000,000 9,000

= 1,800
Al 7,200

HEA A0S 20,000 14,550 5,450

8,000
Al 12,000

H

307 21201 & 20,000 14,550 5,450

8,000
Al 12,000

H

FAFE B X 20,000 14,550 5,450
[ At =S XIS 20,000,000& 20,000

8,000
12,000

= M

KNAAMS MBI A SXRALS 4,146,429 4,082,586 63,843
2,902,500
373,179
870,750

= N

201 L Et2A | 35,944 48,700 N12,756
25,160
,235
7,549

= H ™
w

01 At 2t2l bl 31,944 45,200 A 13,256
OXSABINMHI A EXNME EE L AMAREES
= 31,944,000& 31,944

22,360
2,875
6,709

S3 22| 4,000 3,500 500
OXS A MHI A EXMY 2

=

i

2=
4,

000,000& 4,000
2,800
360
840

= N3

202 o4 Hl 5,520 5,400 120
3,864

497
1,159

= N4

01 =LHOI LI 5,520 5,400 120




SN =2XEYY
M UUAIE =T FX
el SXAE JE202d &4 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMSII2 AEHEA ot 5,520,000& 5,520
s 3,864
< 497
Al 1,159
308 XtXIEHHSOIA 4,104,965 4,021,686 83,279
ras 2,873,476
L3 369,447
Al 862,042
3 2SOHEHE & X 2 A I 4,104,965 4,021,686 83,279
OX A MEIA SEXALY HM3HE HES
4,104,965,000& 4,104,965
s 2,873,476
& 369,447
Al 862,042
ZCwa(0rN) 24 214,000 254,000 240,000
307 21201 A 214,000 254,000 240,000
11T MISRASEX 214,000 254,000 240,000
OFEdY3 23l 20,000,000& * 64 120,000
OFED 29l 94,000,000 = 10024 94,000
M SXNHEBSRH Self-care A2 sU= 14,250 15,000 AT750
201 L4l 14,250 15,000 AT750
01 At 22l 14,250 15,000 AT750
OMIBISXNHGERH self-care A3 WF
100,000& » 75H = 23| » 95% 14,250
g 2R¥ sMESF N 10,750 0 10,750
405 XHoHF S HI 10,750 0 10,750
01 HatH ESFH S 10,750 0 10,750
OEZZRA SUES XA 250,000& = 434 10,750
DZLHY9 [otZF2 A MEE X2 189,000 0 189,000
307 glz2tol & 189,000 0 189,000
01 22724l 189,000 0 189,000
O22LHY9 XotAeI it MEF XS
35,000& * 5,400 189,000
EXAIE Jlgtx 4 12,041,701 10,840,925 1,200,776
= 6,590,391
< 896,433
Al 4,554,877
M2 EXAIE 2L 9,000 9,000 0
203 YR =&l 9,000 9,000 0
03 AIHF=XH R =AY 9,000 9,000 0
OAMII =R XN2HRFA 9,000,000 9,000
ASISTTAIE SALR B (HRMA )= X2 1,453,200 1,411,200 42,000




2N

X{ XH -
S =

CSNE=E<In!

O|H|'}\|'2|EX|

= Xl
Sl =XAE JIBEY

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 1,453,200 1,411,200 42,000
11T M SRASEEX 1,453,200 1,411,200 42,000
OMIISXNANESAN HRME =SS
70,0002 = 1,730€ = 128 1,453,200
M2ASXAIE SAMT WY X 2,988,110 2,576,160 411,950
< 896,433
Al 2,091,677
307 21201 A 2,988,110 2,576,160 411,950
< 896,433
Al 2,091,677
T M SXASEE X 2,988,110 2,576,160 411,950
OASXAESAR RS
2,988,110,000& 2,988,110
< 896,433
Al 2,091,677
MEIESXAIE AI=22F XA 7,591,391 6,844,565 746,826
= 6,590,391
Al 1,001,000
301 LA F 7,591,391 6,844,565 746,826
= 6,590,391
Al 1,001,000
0B ARSI =R RAB NS 7,591,391 6,844,565 746,826
OMEIEXAE AS=ERLA SAH|
7,000& * 6508 * 220 1,001,000
OMBISXIAE ASI=223 2
5,835,798,000& 5,835,798
= 5,835,798
OMEIESXAE AS=RL3 I=H
159,345,000& 159,345
= 159,345
OMIIEXAE A=A wStl
595,248,000 595,248
= 595,248
=D =M8 Hast 117,631,560 111,688,540 5,943,020
= 97,852,300
s 336,597
= 7,504,135
Al 11,938,528
HASE Itz 91,753,760 88,956,959 2,796,801
= 74,719,800
s 336,597
= 5,688,185
Al 11,009,178
ANEAH 29 665,892 582,164 83,728
= 466,126
Al 199,766
307 21201 A 665,892 582,164 83,728




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

H

Al

466,126
199,766

@09'.'

32,946,000&

32,946,000&

H

Al

H

Al

665,892

332,946

233,063
99,883

332,946

233,063
99,883

582, 164

83,728

H

Al

42,000

16,800
25,200

40,000

2,000

307 21201 &

= M

42,000

16,800
25,200

40,000

2,000

= M

= N

42,000

21,000

8,400
12,600

21,000

8,400
12,600

40,000

2,000

= 0 W

3,959,470
3,563,523
118,784
277,163

3,303,300

656,170

= N H

430,000
387,000
12,900
30,100

350,000

80,000

i (404 2 &) 430,000,000&

= N H

430,000

430,000
387,000
12,900
30,100

350,000

80,000

307 glztol &

=z N W

3,529,470
3,176,523
105,884
247,063

2,953,300

576,170

3,529,470,000&

= M W

3,529,470
3,529,470

3,176,523
105,884
247,063

2,953,300

576,170




2N

H®: B0z (A
e MASE JIgtx 4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ANEEHAZ NS 67,324 243,029 A 175,705
= 60,592
& 2,020
Al 4,712
301 et A= 67,324 243,029 N 175,705
= 60,592
= 2,020
Al 4,712
01 AR E & A 462 67,324 243,029 A 175,705
(OPNE=F = 67,324,000 67,324
= 60,592
=} 2,020
Al 4,712
IAIE S E X & ALY 480,854 557,662 ANT76,808
g 336,597
& 43,277
Al 100,980
308 XAXISHHMSO0lI& 480,854 557,662 ANT76,808
g 336,597
& 43,277
Al 100,980
11 BI2SHUSEANE AIS Y 480,854 557,662 ANT76,808
OJIAIZH Y 22 X3 ALY 480,854 ,000& 480,854
= 336,597
== 43,277
Al 100,980
Sl 2glI=8g3 7,582,080 7,062,203 519,877
308 MXIESHMSOIA 7,582,080 7,062,203 519,877
07 MIXSHHM2REES S 7,582,080 7,062,203 519,877
09z2022 AlbIEEEZ2 7,582,080,000& 7,582,080
MAES 201274 B8gg, o) UEEas I 234,000 273,000 A 39,000
301 et A= 234,000 273,000 A 39,000
01 Al E & A 462 234,000 273,000 A 39,000
OMASE FVALLEEZ U LARIIQAL
g2 6,500 = 3,000 = 12& 234,000
MAZ O 76,029,390 72,454,800 3,574,590
= 68,426,451
= 5,322,057
Al 2,280,882
301 LBt A= 76,029,390 72,454,800 3,574,590
= 68,426,451
& 5,322,057
Al 2,280,882
01 AISIE& A %52 76,029,390 72,454,800 3,574,590
OMAZS N 76,029,390,000& 76,029,390




SN =2XEYY
M 20| ZME A
??: HASE JIgtxd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 68,426,451
< 5,322,057
Al 2,280,882
[ RSP =0 555,481 486,172 69,309
= 499,932
< 16,665
Al 38,884
301 LEMZ 555,481 486,172 69,309
= 499,932
< 16,665
Al 38,884
01 MEI2EZE+06l= 555,481 486,172 69,309
Ol EHSA 555,481,000 555,481
= 499,932
< 16,665
Al 38,884
mE= = 135,129 115,608 19,521
308 XXM SOl A 135,129 115,608 19,521
08 WEII20HSHE X 135,129 115,608 19,521
Ou=ss0 135,129,000& 135,129
MIBEEFEANLAHY 28 15,100 12,100 3,000
201 2et24d] 15,100 12,100 3,000
01 At 22l 1,900 1,900 0
OJI=MEEZArg et elS= M
1002 * 20,0005 * 95% 1,900
02 2324l 13,200 10,200 3,000
O=e-8 e~ REAIXH 02
500& * 2,200H = 123 13,200
Atgtglstel FeIX & 16,400 16,400 0
< 3,280
Al 13,120
301 LPENF 16,400 16,400 0
= 3,280
Al 13,120
01 MEIBEE 263 16,400 16,400 0
O &dl Al 2,000,000& = 34H 6,000
< 1,200
Al 4,800
ogzz(&=) 800,000& « 13H 10,400
< 2,080
Al 8,320
222s80l Yese 3N 2= (AYISEH 292,839 300,747 27,908
)
= 263,555
Al 29,284




2N
X ZH -
L= B
el

SN - EAEA) - MRAL

01
o

Off &t 24

=

i
2m

307 21201 A

H

Al

292,839

263,555
29,284

300,747

11 A2l = XA

(o]
=
OslYISS

021 FE

292,839,000&

= N

292,839
292,839

263,555
29,284

300,747

AT,908

o

880,000

721,600
168,400

1,061,335

A 181,335

307 21201 A

oW

880,000

21,600
168,400

1,061,335

A 181,335

880,000,000&

H A

880,000
880,000

721,600
158,400

1,061,335

A 181,335

= N H

230,079

207,071
6,902
16,106

395,404

N 165,325

307 21201 &

= N H

230,079
207,071
6,902
16,106

395,404

A 165,325

11 At S XA

=]
OFHELI= 230,079,000&

= HnH

230,079
230,079

207,071
6,902
16,106

395,404

A 165,325

ry
Hu
or
I
=
30
rr
1
il
=
10
o
i
il
-
0
=
e
u
00
o
0

H

Al

49,458

44,512
4,946

36,362

13,096

307 21201 A

H

Al

49,458

44,512
4,946

36,362

13,096

49,458,000&

H

Al

49,458

49,458

44,512
4,946

36,362

13,096

W

Al

518,264

466,438
51,826

169,357

348,907

307 glzZtol &

518,264

169,357

348,907




M SNEH L
M. 20/J| M
@ MASs

SN - EAEA) - MRAL

01
o

Off &t 24

=

M
2Hm
==
£l
Ol
0y

H

466,438
Al 51,826

A S XAIE E = 518,264 169,357 348,907

OFHMEAH 518,264,000& 518,264
466,438
51,826

= H

NASSE FHSE 25,877,800 22,731,581 3,146,219
23,132,500
1,815,950
929,350

=z N H

F=H20 25,669,000 22,450,518 3,218,482
23,104,000
1,796,000

769,000

=z N H

301 YR 23,869,000 20,250,518 3,618,482
21,484,000
1,670,000

715,000

=z N H

01 M2 H 03 23,869,000 20,250,518 3,618,482
OYx=™ 23,869,000, 000& 23,869,000
21,484,000

1,670,000
715,000

= N W

403 AXHHSXH=0lA 1,800,000 2,200,000 A 400,000
1,620,000
126,000
54,000

= N H

=
s}
2
o’
o
>
r
I
o0

ARSI 1,800,000 2,200,000 400,000
1,800,000, 000& 1,800,000

1,620,000
126,000
54,000

© M
1
rx
30 an

>
(il
=}

= mnH

SOHEZMH FEHIMEZAS 57,000 114,000 A57,000
28,500
19,950
8,550

=z MW

402 212t A= 01 & 57,000 114,000 A57,000
28,500
19,950
8,550

= H W

N
e
S
>
r
>
9
Ho
B
=S
>
=
o

©
o
=
rhh
0
=
ro
N
1o
B
>
e

57,000 114,000 A 57,000
57,000,000& 57,000

28,500
19,950
8,550

= M W

U

S KEFE FHIE ML 16,800 14,400 2,400

201 ¢er24| 16,800 14,400 2,400




SN =XFYD
Za: 2017

Sl HASE FHOF (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 16,800 14,400 2,400
o"xd ULseA LU=
1,400,000 * 12&8 16,800
FHSXNHAH 2Z(XHA) 135,000 128,000 7,000
307 glz2tol & 135,000 128,000 7,000
05 BIZHRIE 3 135,000 125,000 10,000
OFAH=EXNNHEH 294l 135,000, 000& 135,000
HH2LYZH (S Z D) 778,312 768,175 10,137
= 246,420
< 73,926
Al 457,966
Jl234l 60,832 67,332 A 6,500
JlE&l 60,832 67,332 26,500
201 LB-2dH| 26,248 26,502 A 254
01 At 22l 26,248 26,502 A 254
OJI2ge =das2H(II&EZl)
500,000& * 23 = 90% 10,350
O=ZHI(J1E&HI)
8,000& » 23H * 8% = 12& » 90% 15,898
202 O4dl 23,184 28,090 A 4,906
01 = LHA YI 23,184 28,090 A 4,906
O©JI=ZHI
20,0003 » 23% x 62 * 1228 * 70% 23,184
203 &S =&l 11,400 11,340 60
01 JI22E =4 6,000 6,000 0
OJNFEAH(42) 6,000,000& 6,000
04 FN2ELSZ=TH 5,400 5,340 60
OJIEZ 5,400
O30¢! ol st 400,000& = 12& 4,800
0302l =t 5,000& = 10¥ = 12& 600
el 2 717,480 700,843 16,637
= 246,420
< 73,926
Al 397,134
laory FX (=3 1) 492,840 488,504 4,336
= 246,420
< 73,926
Al 172,494
101 @14l 492,840 488,504 4,336
= 246,420
< 73,926
Al 172,494
03 RIAHAZZRE > 492,840 488,504 4,336




SA: 2X™ 2
B AR (SNEHDY)
chel: ol gyl CEEEED
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OSe At 22l A X2 (15H) 492,840
[@F=3¢; 375,658, 000& 375,658
= 187,829
= 56,349
Al 131,480
o254+ 18,502,000 18,502
= 9,251
o= 2,775
Al 6,476
O= &l 17,640,000& 17,640
= 8,820
= 2,646
Al 6,174
O&ea= 6,300,000 6,300
= 3,150
& 945
Al 2,205
OE=E 10,080,000& 10,080
= 5,040
= 1,512
Al 3,528
oo 3,780,000 3,780
= 1,890
o= 567
Al 1,323
Ossty 8 X8 2,500,000& 2,500
= 1,250
= 375
Al 875
o4 =2 51,660,000& 51,660
= 25,830
o= 7,749
Al 18,081
OG I E A 6,720,000& 6,720
= 3,360
= 1,008
Al 2,352
ol 2A Y| 224,640 212,339 12,301
101 @1 21| 224,640 212,339 12,301
02 JIEA 2 %= 2,112 2,047 65
OAZSAEMAINM =U2RE
8,798& * 1Y = 20Al2t » 12& 2,112
03 2IAHAZZXHE = 222,528 210,292 12,236
OSe At ZEIAF X&) (15H) 135,892
OEaAE 2 27,000,000& 27,000
OY ZE I 40,707 ,600& 40,708
OfH# (s )22 68, 184,000& 68,184
ogszex 86.636




SXE M
HE2IAZH (SN D)
el 2l )
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 il 2
OPIR== 60,173
-u=15 2,761,880& » 1H » 1228 33,143
-tz 2,252,460 » 1H » 128 27,030
OozZ2s+% 3,010
-Lt=15 138,090& = 1H = 12& 1,658
-t= 12,6203 * 18 = 123 1,352
O=&tl 140,000& = 2H = 12& 3,360
o< 50,0003 * 294 » 12& 1,200
EFARFH 30,0003 * 2% * 12& 720
ONs=g 40,000 * 2% = 128 960
OGE s tdl 5,015
-Lt=15 1,380,940& * 23| 2,762
-Ct=6 1,126,230& * 23| 2,253
Ooxuze=4 8,444
-u=15 19,2403 = 1H » 20AI2H » 123 4,618
-Ct= 15,9403 = 1H = 20AI2 » 128 3,826
OAIIE &l 3,754
-b=15 102,640& » 20 2,053
-t= 85,040& » 20 1,701
MWeES(SNH D) 130,075 89,635 40,440
HEHHK = 130,075 89,635 40,440
SIE200I3 SN HES 130,075 89,635 40,440
701 JIEtSI HSHES 130,075 89,635 40,440
01 JIEtSI HEES 130,075 89,635 40,440
O2A==0Il=s SEIH 852
130,075, 000& 130,075




= o
A & 0l & AF 2 E A A
P021EE 2OA QU SRFMD ~ 9T
A el Zoel
Mo LoI=XEX
& LS JIgtEd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
L OV ZHOH o1 It 454,913,075 413,193,795 41,719,280
= 260,873,163
J| 422,640
< 36,635,493
Al 156,981,779
Lo=xsad 328,071,564 299,419,570 28,651,994
= 193,411,740
J| 422,640
< 27,464,952
Al 106,772,232
LosX Jgtxd 327,114,090 297,247,300 29,866,790
= 193,405,553
J| 422,640
< 27,463,096
Al 105,822,801
LIS YEt Arg 9,125 1,149,500 A 1,140,375
201 et 7,125 7,500 A 375
01 At 2teltl 7,125 7,500 A375
OLQlHAL &I M &
100,000& » 759 = 95% 7,125
203 YR =2t 2,000 2,000 0
03 Al =AY R =& 2,000 2,000 0
OLQ HoHHR =& 2,000,000 2,000
J2E2g dgesy J& 133,900 130,636 3,264
< 26,780
Al 107,120
307 gl2tol & 133,900 130,636 3,264
< 26,780
Al 107,120
11T ASI S RAEE = 133,900 130,636 3,264
OZ=2Y =3lZ=z8 2| oAsEXA
33,475,000 = 2H = 2004 133,900
< 26,780
Al 107,120
dz2g SgHXA 1,669,200 1,663,400 5,800
307 21201 A 1,669,200 1,663,400 5,800
11T A SXAEE X 1,669,200 1,663,400 5,800
oZzE2dHl 1,669,200, 000& 1,669,200
2y HudH(¢2H2E) 8 K& 1,779,000 1,788,360 A 9,360
= 444,750
S 400,275
Al 933,975
301 LEHZ 373,670 373,670 0
= 93,417
< 84,076




A el Zoel
Mo LoI=XEX
S9l: COI=X| JBtEY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 196,177
01 MEIBZE 06z 373,670 373,670 0
oZz &=l 373,670,000 373,670
= 93,417
< 84,076
Al 196,177
307 21201 A 1,405,330 1,414,690 A 9,360
= 351,333
< 316,199
Al 737,798
11T AL SXAEE = 1,405,330 1,414,690 A 9,360
OZZ2gd et 1,405,330, 000& 1,405,330
= 351,333
< 316,199
Al 737,798
FERYR2IGU NI RERSZXE) 63,960 63,960 0
< 9,594
Al 54,366
201 ¢4 63,960 63,960 0
< 9,594
Al 54,366
01 At 2t 2l 63,960 63,960 0
OZZE2IHINIR2FSEXH)
60,000& = 1,066H 2 63,960
< 9,594
Al 54,366
d22Y 224 N (Z=2Ls ¥ W=sH X&) 27,300 28,100 A 800
S 5,460
Al 21,840
307 glz2tol & 27,300 28,100 A 800
< 5,460
Al 21,840
11T M SRASE EX 27,300 28,100 A 800
oZdzEsld W=H XN  100,000& * 273H 27,300
< 5,460
Al 21,840
Z22% X210IAY 696,000 54,000 642,000
< 16,200
Al 679,800
307 glz2+ol & 696,000 54,000 642,000
< 16,200
Al 679,800
11T MISAASEX 696,000 54,000 642,000
OZ=Z2Y XII0AS(F2Y ML)
642,000,000& 642,000
OZ=Z2Y XII0IAS(SHS HA2LIX)
54,000,000& 54,000




2N
X ZH -
L= B
el

ni
X

B E &

o
=
-

FH H
e e re
J i o
==

o e

A

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 16,200
Al 37,800
9988 #M=Lt=01 At 1,602,018 1,600,508 1,510
< 480,605
Al 1,121,413
307 glz2tol & 1,602,018 1,600,508 1,510
< 480,605
Al 1,121,413
11T M SRAISE EX 1,602,018 1,600,508 1,510
©9988 dsLtS01 At 1,602,018,000& 1,602,018
< 480,605
Al 1,121,413
tHeteolsl AIXE MRE= 2SI 100,000 100,000 0
< 11,968
Al 88,032
307 glz2tol & 100,000 100,000 0
< 11,968
Al 88,032
11T MISRASEX 100,000 100,000 0
og=2ls 2H X  50,000,000& * 2702 100,000
< 11,968
Al 88,032
Loty 2N 302,000 330, 262 A 28,262
307 21201 A 302,000 295,262 6,738
11T AL S XA E = 302,000 295,262 6,738
Olist- s H=AKXa 29 302,000
OuY MRS (2423) 160,000, 000& 160,000
Osdd2R2XsE (2123) 142,000, 000& 142,000
CQIEH ALK 7,200 7,200 0
301 LA F 7,200 7,200 0
09 SALEHIX A S 7,200 7,200 0
O QI AL FIHA O HI
20,000& = 30 * 204 * 62 7,200
JHESY HHOIE J18 & Al XI& 15,000 9,700 5,300
307 21201 A 15,000 9,700 5,300
04 QIZFSHALAIH B = 15,000 9,700 5,300
OJE2AEY HHOIE J1g8 A XI&
15,000,000& * 12l 15,000
Lolojyd JIg e At 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 QIZFHALAIH B = 40,000 40,000 0
Ol JIgd A 40,000,000& = 13l 40,000




2N
X ZH -
L= B

el

OH 1 1]
X

B E &

=

o e

=

FH H
e e re
J i o

X
X

A

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HOIEE &l 9,700 9,700 0
307 gl2tol & 9,700 9,700 0
04 DI2ZHHALALSE E X 9,700 9,700 0
OAOIE=Z U3l 5,000,000& * 200 = 97% 9,700
Lolet2E 2EU3 1,940 1,940 0
307 glz2tol & 1,940 1,940 0
04 QIZFHALALH 2 = 1,940 1,940 0
okLelneree 23l
2,000,000& * 104 » 97% 1,940
ALIGIEE 29 1,884,400 1,759,075 125,325
307 gl2tol & 1,884,400 1,759,075 125,325
10 AL SXNAIEEE2EH EX 1,884,400 1,759,075 125,325
OALINEE 2Z(6MA) 1,884,400,000& 1,884,400
Codiiel 2 (SLE(N2E)) 25,020, 104 22,422,250 2,597,854
= 12,510,052
< 1,251,140
Al 11,258,912
101 124 dl 12,120 12,000 120
= 6,060
= 606
Al 5,454
4 D12t Z2XREES 12,120 12,000 120
ocolgXtel dgesE(Al.28 . 59) UHEE S
202,000& = 5YH » 12& 12,120
= 6,060
< 606
Al 5,454
201 Lt 6,800 6,800 0
= 3,400
< 340
Al 3,060
01 At 22l 6,800 6,800 0
OLolgdXiel AYEEX 2UHALI(FE) 6,800
O gdXtel MPFE ZAt2 2,400,000 2,400
= 1,200
< 120
Al 1,080
Ooghtel MEFE Zely &
220,000& * 2074 4,400
= 2,200
= 220
Al 1,980
301 LEXZ 3,329,530 2,973,700 355,830
= 1,697,667
< 169,901




2N
X ZH -
L= B

el

FH H
e e re
J i o
==

n
xl

B E &

o
=
-

o e

A

ir
x

0l &t o

=

i
2m

Al

1,461,962

09 &

JIEt2 &=
OXNAL-Qld Rl (FE, 1,063H)
3,321,026,000&

= Hn

= MW

8,504

8,504

4,332
434
3,738

3,321,026

3,321,026
,693,335

169,467
1,458,224

—

7,600

2,966,100

904

354,926

307

0120 &

= MW

21,671,654
10,802,925
1,080,293
9,788,436

19,429,750

2,241,904

A
ozogxtel 2 (U (XNHE))

21,671,654,000&

= HnH

21,671,654

21,671,654
10,802,925
,080,293
9,788,436

—

19,429,750

2,241,904

= 0N

—

,423,110
711,555
71,160
640,395

1,954,440

A 531,330

307

[m]
J

1201 A

F
[

= Hn W

—

,423,110
711,555

71,160
640,395

1,954,440

A 531,330

=
1o
o
-
I
HL
P

©)
H
e
e
- >
Ial
A0
02

(AEE) 1,423,110,000&

= N W

—

,423,110
,423,110

711,555
71,160
640,395

1,954,440

A 531,330

-
o
ne

-
o]
Ho
)
I
it
ne
x
og

= N W

156,000
7,500
750
6,750

15,000

307

= N W

15,000
7,500
750
6,750

15,000

© =
oo
e
=]
- >

%
H
A

o
Mo
02
ﬂ

HUAH)

=21 o

15,000, 000&

oW

15,000
15,000

7,500
750

15,000




2N
X ZH -
L= B

el

n
X

B E &

o
=
-

FH H
e e re
J i o
==

o e

A

ir
x

CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

6,750

S -
o
e
b
ol
20
08
1>
0%
9
]
gl
oo
)
Jn

= W

1,668,030
834,015
83,400
750,615

1,494,520

173,510

= W

128,310
64,155
6,415
57,740

126,535

1,775

04 JIZtNZ22XNSE+

OLoldXtelXNE (Al - & Mgolad 5y

= M W

128,310

128,310
64,155
6,415
57,740

126,535

1,775

307 21201 &

= M W

1,539,720

769,860
76,985
692,875

1,367,985

171,735

1,539,720,000&

= W

1,539,720

1,539,720
769,860
76,985
692,875

1,367,985

171,735

colxiel 2 (ASAMHIAE)

Z W

6,184,570
3,092,285

309,220
2,783,065

5,510,200

674,370

307 212+0]

o

= N H

6,184,570
3,092,285

309,220
2,783,065

5,510,200

674,370

>
ton
J
-

2 X

A
el 2 (MIMEIAE)
6,184,570,000&

©
in
o
ne

= M W

6,184,570

6,184,570
3,092,285

309,220
2,783,065

5,510,200

674,370

Colgxtel XN (XA

= M

360,080
180,040
180,040

360,080

307 21201 &

Hn

Al

360,080
180,040
180,040

360,080

(S XHA) 360,080,000&

H

360,080
360,080
180,040

360,080




A el Zoel
Mo LoI=XEX
& LS JIgtEd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 180,040
J=d3 244,578,013 217,692,577 26,885,436
= 171,204,609
< 14,674,681
Al 58,698,723
301 LEMZ 244,578,013 217,692,577 26,885,436
= 171,204,609
< 14,674,681
Al 58,698,723
01 MI2EZE 06z 244,578,013 217,692,577 26,885,436
QJI=4H3 244,578,013,000& 244,578,013
= 171,204,609
< 14,674,681
Al 58,698,723
Eel gAES 3,780 3,780 0
307 glz2tol & 3,780 3,780 0
05 Rzt E = 3,780 3,780 0
OJNsEk ZAES 3,780,000 3,780
Lol tesmes N 25,200 25,200 0
307 21201 A 25,200 25,200 0
11T MISXASEX 25,200 25,200 0
OLQSAE S (2 A) 25,200,000 25,200
Lo EEsAHA 5,639,580 5,422,420 217,160
= 3,947,690
< 507,560
Al 1,184,330
307 gl2tol & 5,639,580 5,422,420 217,160
= 3,947,690
< 507,560
Al 1,184,330
11 ALS S XALEE = 5,639,580 5,422,420 217,160
OLestEssMEA 5,639,580, 000& 5,639,580
= 3,947,690
< 507,560
Al 1,184,330
SEHL SSZMHLY SSAdLEMEH L 2Y 845,280 397,551 447,729
J| 422,640
< 84,528
Al 338,112
307 glz2+ol & 845,280 397,551 447,729
J| 422,640
< 84,528
Al 338,112
11T MISAASEX 845,280 397,551 447,729




M Lol &0H el It
HY: Lo=NEA
S9l: COI=X| JBtEY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OSEHLQ SSEHMH SIHAHLSMHHA 2
A 845,280,000 845,280
J| 422,640
o=t 84,528
Al 338,112
ENLQ ESANIAMEH 29 250,740 237,220 13,520
307 2Iz2t0| & 250,740 237,220 13,520
05 QIZ2tREF 2 250,740 237,220 13,520
OSHLQ SEXN|MH 24 250,740,000 250,740
NASE MIF= QLA AN BHE ALY 672,000 634,200 37,800
307 2iz2to| & 672,000 634,200 37,800
11T AISIEXAIEEX 672,000 634,200 37,800
OMASTHOIE QA AEH S AFR (7509 )
672,000,000 672,000
AZ2AE 2224 ALY 899,712 891,800 7,912
307 2Iz2to| A 899,712 891,800 7,912
11T A EXAIEEX 899,712 891,800 7,912
Od=2AY 223 A AP (1300 A)
899,712,000& 899,712
LolIt2s A& 38,000 40,000 A 2,000
307 212t0| & 38,000 40,000 A 2,000
11 A EXAIEEX 38,000 40,000 A 2,000
O=s SYXA(L0lEl)
20,000,000 = 204 = 95% 38,000
Lo=sia 249 3,121,993 2,950,570 171,423
307 2I2t0| ™ 3,121,993 2,950,570 171,423
05 QIZtREZ 3,121,993 2,950,570 171,423
oroEx&29 (5 A) 3,121,993,000& 3,121,993
LOoAZ Al 2HX S 932,998 843,654 89,344
= 653,097
& 83,970
Al 195,931
307 2Iz2t0| & 932,998 843,654 89,344
= 653,097
= 83,970
Al 195,931
10 M SXANEEHESIGHEX 932,998 843,654 89,344
OLQUZ AL AKX 932,998,000& 932,998
= 653,097
=} 83,970
Al 195,931
LOQAALE 2H A& 17,474,425 18,253,001 ANT78,576
& 9,261,445




A el Zoel
Mo LoI=XEX
Sl QIR JIgEY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 8,212,980
301 LEXZ 17,474,425 18,253,001 AT78,576
< 9,261,445
Al 8,212,980
01 MEIBEZE 05z 17,474,425 18,253,001 AT78,576
OLQRAAL XA 17,474,425,000& 17,474,425
< 9,261,445
Al 8,212,980
N2 SXNAE 2GR 14,400 22,800 A 8,400
< 4,320
Al 10,080
307 21201 A 14,400 22,800 A 8,400
< 4,320
Al 10,080
10 ALSISXAIEEE2IHEX 14,400 22,800 A 8,400
oMoy SXAME 2L XA (ML)
14,400,000& 14,400
= 4,320
Al 10,080
LOFUBSALE 2208 29 156,866 145,000 11,866
307 glz2+ol & 156,866 145,000 11,866
11T MISRASEX 156,866 145,000 11,866
onassa & 29l
156,866,000& = 1JH A 156,866
MIot=QlMHI AT 2 I 9,226,466 9,169,696 56,770
301 LEXZ 8,034,296 8,034,296 0
01 MEI2EZE 06z 8,034,296 8,034,296 0
OMI=™ X 8,034,296,000& 8,034,296
307 21201 A 1,192,170 1,135,400 56,770
10 ALSISXAIEEE2IHEX 1,192,170 1,135,400 56,770
OMIt-A=EXNAE 2L
70,310,000 = 7002 1,192,170
SEXNY otite Olsel=X2 AHY 25,000 25,000 0
307 glz2+ol & 25,000 25,000 0
11T MISXASEX 25,000 25,000 0
OsZXY HOtite Olse=X2 ALY
5,000,000& * 5Jf A 25,000
Lo EESS AL HRMEH K= 198,000 0 198,000
307 glz2tol & 198,000 0 198,000
11T MIZEXASEEX 198,000 0 198,000
O AEF=SAMUIAANY HRMAH X2
198,000, 000& 198,000




2N
X ZH -
L= B

el

LS QIEOH Bt
Lo=EXsd
ANER2E Jlgtxd

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
NE2Y Jigtxd 213,174 720,160 A 506,986
= 6,187
< 1,856
Al 205,131
EFAZUESE=ERN2 JIsEH 13,000 9,000 4,000
401 AIEHIZ 28I 13,000 9,000 4,000
01 A& tl 13,000 9,000 4,000
o=24 g L NS B=3A 13,000, 000& 13,000
AL EX2 JIsEd 107,800 17,000 90,800
401 Al& Bl 28I 105,500 9,300 96,200
01 A& HI 105,500 9,300 96,200
OLE: W) 2 i WM SAH(1-25)
105,500, 000& 105,500
405 XHoHF S HI 2,300 7,700 25,400
01 XAt 2 S FH S| 2,300 7,700 A5,400
Odla Oy 20 2,300,000& « 1CH 2,300
LOIQUANL JsEL(=Z1) 12,374 0 12,374
= 6,187
< 1,856
Al 4,331
402 2I2H X201 M 12,374 0 12,374
= 6,187
< 1,856
Al 4,331
02 QIZEH AL EZ (01 TS ) 12,374 0 12,374
OLURAANE Js2Z 12,374,000& 12,374
= 6,187
< 1,856
Al 4,331
LOI=SRAE SFANLE WA 80,000 80,000 0
201 et 80,000 80,000 0
02 8323l 80,000 80,000 0
OSXNAE (e, Zoel, FAH) A& Yl
80,000, 000& 80,000
ZREs A 744,300 1,452,110 A707,810
AT 29 403,300 388,424 14,876
307 glz2+ol & 360,000 360,000 0
05 RIZHRI & 3 360,000 360,000 0
OFdAZE QA 360,000
O22 X oAddl & 23l 300,000, 000& 300,000
O&R0IA 21 AH| 60,000,000& 60,000
405 THekF S| 43,300 28,424 14,876




A el Zoel
HY: Lo=NEA
cHelr HREs A (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 43,300 28,424 14,876
OHE D (AlXICHRIE) 9,200,000& * 4CH 36,800
ORHIEEZZ2ANAE(IEH) 22 6,500,000 6,500
SESE JIsES 16,000 17,000 A 1,000
401 Al IR 201 I 16,000 17,000 A 1,000
01 A& Bl 16,000 17,000 A 1,000
O==8a A& 222 16,000
OZ2sEXNA &XY| 8,000,000& * 204 16,000
e Hat S =8 XIS 28 FU=SJ AL 300,000 300,000 0
A&
401 Al HIZ 201 I 300,000 300,000 0
01 A& HI 300,000 300,000 0
Otz &d FHOIES FU=SJA MBI
300,000, 000& 300,000
3SUEY 385 2L A 25,000 0 25,000
401 Al HI K 201 I 25,000 0 25,000
01 A& Hl 25,000 0 25,000
OM3SsEE 35 AAZAH 25,000,000& 25,000
ZOHAU=EX 2 126,783,368 113,716,110 13,067,258
= 67,461,423
< 9,170,541
Al 50,151,404
O =X Jlgtxd 93,030,943 81,988,202 11,042,741
= 52,020,373
< 6,854,909
Al 34,155,661
ez 22,825,791 19,914,581 2,911,210
= 15,978,054
< 2,054,321
Al 4,793,416
301 LEXZ 22,825,791 19,914,581 2,911,210
= 15,978,054
= 2,054,321
Al 4,793,416
01 MEI2EZE+06l= 22,825,791 19,914,581 2,911,210
OFMHAS A= 22,825,791,000& 22,825,791
= 15,978,054
< 2,054,321
Al 4,793,416
o=+ (II=x) 1,608,685 1,458,772 149,913
= 1,126,079
< 337,824
Al 144,782




M Lol &0H el It
Hm: ZojoI=R PE
Ce: SR JlEtx Y (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 et A= 1,608,685 1,458,772 149,913
= 1,126,079
& 337,824
Al 144,782
01 Al E & X 462 1,608,685 1,458,772 149,913
OXHMEH(II=x) 1,608,685,000& 1,608,685
= 1,126,079
= 337,824
Al 144,782
S (XA S) 1,270,884 1,178,113 92,771
= 889,618
= 266,886
Al 114,380
301 dEtE M= 1,270,884 1,178,113 92,771
= 889,618
& 266,886
Al 114,380
01 Al B & X 262 1,270,884 1,178,113 92,771
OXMNLH (XA S) 1,270,884,000& 1,270,884
= 889,618
= 266,886
Al 114,380
OCIHAES ALY 417,753 440,172 N22,419
201 et d| 40,603 60,672 A 20,069
01 AFR 2t 2| H| 40,603 60,672 A 20,069
OXQEXINE |AASLZ KN (HHs & 8
gl ) 3,820 * 7,000 * 95% 25,403
OHMRUXNSXNHIDIEEZ S S0t ez
Hl = 4,000 = 4,00000 * 95% 15,200
307 212t0| & 377,150 379,500 A2,350
11 A EXAIEE X 377,150 379,500 A 2,350
OXOMIHH F&23 XS
77,200,000€ * 1002 77,200
Ox=Hua 89 6,000,000 = 1JH A 6,000
OZMWAST T ASNANY 29
30,000,000 * 1JH = 30,000
O&MR2BHEH 29
40,000,000 = 1JHA * 96% 38,400
OAEEONQ XHOSAIYE &H
26,300,000 * 1 26,300
OAEEOMC EXxg &9
3,000,000& * 1JHA 3,000
O&M MEEXNH &H
10,000,000& = 1JH A&~ 10,000
OB XA AAMX S2HAIS 500,000 = 123] 6,000




A el Zoel
Hm: ZojoI=R PE
el FOHQI=X JIBE A CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFFANZOHANSIIEAAS
75,000,000& = 104 = 95% 71,250
OMIMEMHATHADEAMNY 29F
74,000,000 = 10H A 74,000
OFMHAXMATHE AL E S SAR SS2A3AS
15,000,000& * 13l 15,000
OFMA=RAELES BSAR A2 5t
20,000,000& = 13l 20,000
O =X #HAL &I K& 6,000 6,000 0
301 LEBAF 6,000 6,000 0
09 BAAHIX A S 6,000 6,000 0
OZXMO0tetEUSE &It 50,0003 * 40H 2,000
OXNXEZOHR =XICHal &I b
50,000& = 409H 2,000
OE=X ML A FIHAO I
50,000& = 409H 2,000
OHlW=, XIZ XA 111,208 133,400 A22,192
307 glz2tol & 111,208 133,400 A22,192
11T M SXAISE EX 111,208 133,400 N22,192
OZMY RF=FFHUE 29
800,000& = 10HA = 128 9,600
O=s0tel=7wa 29 20,000,000& * 1JHA 20,000
oOLLIM RRHS 2
4,800,000 * 1JHZ * 96% 4,608
OAZZEHR EXnNSAMYE 299
4,000,000& * 1JHA 4,000
OSYXzHEH 22 10,000,000& * 1JH 2 10,000
OZOMIE HAH SIsXANY 29
38,000,000& * 1JH 4 38,000
OFOtE AHESHE 29
25,000,000& * 1JH =4 25,000
OHeIH=AlE EIAK NEEEF AR 20,000 25,000 A5,000
< 8,000
Al 12,000
301 LeIBAF 20,000 25,000 25,000
< 8,000
Al 12,000
01 Ml28E+06l= 20,000 25,000 A5,000
OZOMRANFAILE EAK NEHAS XS
20,000,000& 20,000
< 8,000
Al 12,000
ZOHAAN=AIE B44E 2MEH S N 3,493 4,513 A1,020
< 1,397
Al 2,096




2N
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L= B
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=X 7
Foper=sx oty

4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 3,493 4,513 1,020
== 1,397
Al 2,096
11T A EXAIEEX 3,493 4,513 A 1,020
OHMAHF=ANALE LAY 2tHEH S N
3,493,000 3,493
&< 1,397
Al 2,096
SSEMC 234 A 25,000 25,000 0
= 7,500
Al 17,500
307 2Iz2t0| & 25,000 25,000 0
= 7,500
Al 17,500
11T AISIEXAIE EX 25,000 25,000 0
OZES & R=24! 25,000, 000& 25,000
& 7,500
Al 17,500
ANZEOMCIOIE JIAXISS XS XJAE 9,200 9,000 200
& 4,600
Al 4,600
307 giztol A 9,200 9,000 200
& 4,600
Al 4,600
11T AISIEXAIEEX 9,200 9,000 200
OALZOHC IIAXRISS XD XA
9,200,000& 9,200
= 4,600
Al 4,600
S SAMAMNMESYE 9,950 9,950 0
= 4,975
& 3,482
Al 1,493
301 et A =2 9,950 9,950 0
= 4,975
& 3,482
Al 1,493
01 Al E & A 46 2 9,950 9,950 0
OHMAUSSAMANER2HE 9,950,000& 9,950
= 4,975
& 3,482
Al 1,493
ZOHNQIDISZSRNRHE 2 294,977 281,000 13,977
307 2I2t0| & 294 977 281,000 13,977
05 QIZtREZ 294,977 281,000 13,977
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IHOAE D=L 29
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86,000
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51,600
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86,000

34,400
51,600
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86,000,000&
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86,000
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34,400
51,600

86,000

gl zs X&

= 0 W

593,500
474,800
83,090
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587,500

6,000

308 MHXIHHMS0OIH

= N H

593,500
474,800
83,090
35,610

587,500
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593,500, 000&

= N H

593,500

593,500
474,800
83,090
35,610
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=z N H

30,368
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4,250
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301 LEIEN S

=z MW

30,368
24,297
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1,821

30,368
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= M W
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1,821

30,368
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01 MI2EZE+06l= 7,000 7,000 0
OFATY ATLHOIZ X
7,000,000& » 1H 7,000
OEEOHO SAXIAZ (XA 15,000 15,000 0
301 LEMZ 15,000 15,000 0
01 MI2ZE 6= 15,000 15,000 0
OO0lEZe &K Z(XHA)
1,500,000& * 109 15,000
GHEZe E4HE XA 28,000 30,000 A 2,000
= 19,600
= 2,520
Al 5,880
301 LeHEBAF 28,000 30,000 A 2,000
= 19,600
< 2,520
Al 5,880
01 MI2ZHE +06l= 28,000 30,000 A 2,000
oL ZHe S4HIE XA 28,000,000& 28,000
= 19,600
< 2,520
Al 5,880
O ESKE A 40,948,325 37,640,463 3,307,862
= 28,663,827
< 2,456,900
Al 9,827,598
308 XXM SO0 A 40,948,325 37,640,463 3,307,862
= 28,663,827
< 2,456,900
Al 9,827,598
N 33JN2SHUe3&EAE A 40,948,325 37,640,463 3,307,862
OZ O &S X & At 40,948,325,000& 40,948,325
= 28,663,827
< 2,456,900
Al 9,827,598
FoelesEX =0 128,809 69,447 59,362
= 90, 164
< 7,728
Al 30,917
308 XX EHH SOl A 128,809 69,447 59,362
= 90, 164
< 7,728
Al 30,917
1132 SoHUHSI S EAE ALS I 128,809 69,447 59,362
O=STHMAUESEX Jte=04 128,809,000 128,809
= 90, 164
< 7,728
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CoIEof el
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 30,917
EZXCIE=SEX XK (EX) 678,839 678,839 0
& 204,105
Al 474,734
308 NXIEHSOIA 678,839 678,839 0
= 204,105
Al 474,734
11 BIZ2SUHUSHEAEAE A Y| 678,839 678,839 0
OE=&MeE=EE FIHAE 678,839,000 678,839
=} 204,105
Al 474 734
EET0NO HEST 24A2 X 219,284 219,284 0
< 65,786
Al 153,498
308 XAHXIGH SO0l & 219,284 219,284 0
& 65,786
Al 153,498
11 2I|2SHUSHEAXERAEASH] 219,284 219,284 0
OZSEHHUETSEX 24AI2 XI&
219,284,000 219,284
= 65,786
Al 153,498
OISt ER2IIE XA 115,344 115,344 0
& 34,603
Al 80,741
308 XAHXIGH SO0l & 115,344 115,344 0
& 34,603
Al 80,741
11 2I2SHUSHEAXERAEASH] 115,344 115,344 0
O&MesE2IAE X 115,344,000 115,344
= 34,603
Al 80,741
ZOHCIES KR FIXKNIFAS (F2AHES) 96,120 96, 120 0
= 28,836
Al 67,284
308 AMXISHMSOIA 96,120 96, 120 0
& 28,836
Al 67,284
112 2SHUSHEAXNE AIS Y| 96,120 96, 120 0]
OZMCESKA XA (FT2UHES)
96,120,000 96,120
o= 28,836
Al 67,284
ESTHUESNMUIA FIXE (KHA) 1,968,408 1,874,340 94,068
308 MXISHMSOIA 1,968,408 1,874,340 94,068
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M ZOjRI=R PE
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
113/ 2SoHUHSZ&EAEALS I 1,968,408 1,874,340 94,068
SHEOMHL & HOHAR L AICH
14,0203 = B0AI2H = 115H « 123 1,160,856
Os|HHUXE Y RNELLTOHAA
14,020& = B0AI2F = 80H » 123 807,552
LYEHR 2B SAHHA XS (=H) 1,524,453 986,371 538,082
= 1,067,115
< 91,468
Al 365,870
308 AHAIEHHSOIA 1,524,453 986,371 538,082
= 1,067,115
< 91,468
Al 365,870
113/ 2SoHUHSZHEAEALS I 1,524,453 986,371 538,082
OLEHM F2AESMHEA XA (Z2H])
1,524,453,000& 1,524,453
= 1,067,115
< 91,468
Al 365,870
LI Zs SSMHHA 872,664 1,062,286 A 189,622
= 610,865
< 52,360
Al 209,439
308 A EHHSOIA 872,664 1,062,286 A 189,622
= 610,865
< 52,360
Al 209,439
113/ 2SoHUHSZHEAEALS I 872,664 1,062,286 A 189,622
OLgZTHe Lus SsSHMEA
872,664,000 872,664
= 610,865
< 52,360
Al 209,439
LR deladg XA 4,197 4,197 0
= 2,938
< 378
Al 881
308 AHAIEHHSOIA 4,197 4,197 0
= 2,938
< 378
Al 881
1132 SoHUHSBHEAEALS I 4,197 4,197 0
OLLHMARD delady XF 4,197,000 4,197
= 2,938
< 378
Al 881
LETHEAMEA X 1,351,290 1,315,314 35,976
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945,900
121,618
283,772

308 MHXIEHHMSOIH

= N H

1,351,290
945,900
121,618
283,772

1,315,

35,976

1,351,290,000&

= M W

1,351,290

1,351,290
945,900
121,618
283,772

35,976

o
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= MW

20,678
14,460
1,865
4,353

,343

7,335

308 MHtXIEHHMS0IH

= W

20,678
14,460
1,865
4,353

,343

7,335

OALEH*H KA 20,678,000&

Z W

20,678
20,678

14,460
1,865
4,353

,343

7,335
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48,000
112,000
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H
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160,000

48,000
112,000

160,

000
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= M

160,000

160,000

48,000
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000

= MW

44,301
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307 glztol &

= W

44,301
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9,303
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441

w=X A 44,301,000&
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43,
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= 31,011
=) 3,987
Al 9,303
AN WML SHU(ZH) 30,000 30,000 0
< 12,000
Al 18,000
307 21201 & 30,000 30,000 0
< 12,000
Al 18,000
11T M SXASE EX 30,000 30,000 0
OWgHMe BHuE =t 30,000, 000& 30,000
S 12,000
Al 18,000
SR @M T2 X 20,000 20,000 0
=) 6,000
Al 14,000
307 glztol & 20,000 20,000 0
=) 6,000
Al 14,000
11T MISRASEX 20,000 20,000 0
OLETMHe B T2 X&
20,000,000& 20,000
= 6,000
Al 14,000
A0l JIAE 01 At 125,814 112,500 13,314
307 21201 A 125,814 112,500 13,314
11T MISXASEX 125,814 112,500 13,314
OWEZOMHC JIAFES 0] AL X &
125,814,000& 125,814
HQrol & A} 29,100 29,100 0
307 glz2tol & 29,100 29,100 0
04 QIZFHALAIH 2 = 29,100 29,100 0
OFZOMRA2 & JIEHAM
30,000,000& * 12| * 97% 29,100
S AE0IE A 6,790 6,790 0
307 21201 & 6,790 6,790 0
04 QIZHHALAIH 2 & 6,790 6,790 0
O&X &Y AL XI&
7,000,000& * 18| = 97% 6,790
3s0tRrel & AL 5,820 5,820 0
307 glztol & 5,820 5,820 0
04 QIZFHALAIR B = 5,820 5,820 0
©6.3.=s0t212 & AL X
6,000,000& * 13 = 97% 5,820




AN el 04t
PN

Hm: ZojoI=R PE
Sl ZojeI=X JIBEs (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZOHO WS2F0=H A 4,365 4,365 0
307 gl2tol & 4,365 4,365 0
04 QIZHH AL AR 2 & 4,365 4,365 0
OZOML NS==0=HM A X
4,500,000& = 13l = 97% 4,365
S0tol sHitsa = 2,910 2,910 0
307 21201 A 2,910 2,910 0
04 DIZHHALALSE E X 2,910 2,910 0
Os=0tel 80t HZ A X3
,000,000& = 13 * 97% 2,910
ZOHQ 2IIME HA 3,880 3,880 0
307 21201 A 3,880 3,880 0
04 QIZFHALAIH B = 3,880 3,880 0
OFM SJNHE A XA
4,000,000& * 13l = 97% 3,880
MEFOHQ ZIIHA 2,910 2,910 0
307 glz2+ol & 2,910 2,910 0
04 QIZFHALAIH E = 2,910 2,910 0
OMZZOHQ Z2I&HAF XI&
3,000,000& * 13 * 97% 2,910
AZEEOHQ =S XICHS 2,910 2,910 0
307 glz2tol & 2,910 2,910 0
04 DI2HHALAISE E X 2,910 2,910 0
OAIZIEOME =XCHE K&
3,000,000& = 13| » 97% 2,910
WS AMD =071 A 2,910 2,910 0
307 gl2tol & 2,910 2,910 0
04 DIZHHALALSE E X 2,910 2,910 0
QuUs At =017 AL XI&
3,000,000& = 13| » 97% 2,910
e 2EIBANE 24,250 24,250 0
307 21201 A 24,250 24,250 0
04 DIZHHALALSE E X 24,250 24,250 0
OFHe OISC2 Z2Hd2MHE A X2
25,000,000& * 12| * 97% 24,250
Zofo Lersgd el (MYH)IAMY N (=1) 2,033,264 1,989, 144 44,120
= 1,016,632
< 304,988
Al 711,644
101 @124l 2,033,264 1,989, 144 44,120
= 1,016,632




2N
X ZH -
L= B

el

02 021 H-
2201
°

ni
a5
Jl

ro o
e
M A o

T o

x4

r

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 304,988
Al 711,644
4 D12t Z2 RS2+ 2,033,264 1,989, 144 44,120
oXofolYersy AX2lALY XI&(78F)
2,033,264,000& 2,033,264
= 1,016,632
< 304,988
Al 711,644
Zofol et AR (AZERDAIE & (2 1) 393,976 357,220 36,756
= 196,987
< 59,098
Al 137,891
101 1244 dl 393,976 357,220 36,756
= 196,987
= 59,098
Al 137,891
04 JIZHHZ2XRHEE S 393,976 357,220 36,756
OZFO0H LBty LXtel AL (30Y)
393,976,000 393,976
= 196,987
< 59,098
Al 137,891
ZOoHe SR LAY XE(=1) 1,100,088 1,071,632 28,456
= 550,044
= 165,013
Al 385,031
307 glz2tol & 1,100,088 1,071,632 28,456
= 550,044
= 165,013
Al 385,031
11T M ZXAIS EX 1,100,088 1,071,632 28,456
OXOHI =KL X2l At XI&(180)
1,100,088, 000& 1,100,088
= 550,044
< 165,013
Al 385,031
A ZEEOH QI CHOFAF THA AN (2 10) 235,284 233,202 2,082
= 188,227
< 14,117
Al 32,940
307 glz2tol & 235,284 233,202 2,082
= 188,227
< 14,117
Al 32,940
11T MIZXAISEEX 235,284 233,202 2,082
OAIZZO0HQIOOFAL TIF24 AFR (14Y)
235,284,000& 235,284
= 188,227




2N
X ZH -
L= B

el

02 021 H-
2201
o

ni
s
Jl

ro o
e
M A o

T o

x4

r

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= H

14,117
32,940

g

e
02
2
o
0]
02
H
fol
>
HL
F3
>
Q
W
kJ

= M W

249,559
124,780
37,434
87,345

213,094

36,465

307 21201 &

= N W

249,559
124,780
37,434
87,345

213,094

36,465

A S XA E X
[¢]

[=]
OLLHMALRLAESAMEX(15Y)

249,559,000&

= 0 W

249,559

249,559

124,780
37,434
87,345

213,094

36,465

= M

35,797

10,739
25,058

35,416

381

307 21201 &

H

Al

35,797

10,739
25,058

35,416

381

AR S XA E
=

oggx

HU FA
pn
A

SAEE mHA(1Y)
35,797,000&

> i1

35,797

35,797

10,739
25,058

35,416

381

10
>
H
Ho
>
Q
L]
2
ne
e
031
2
o
o
o
bl
10
H
E

H

Al

5,472

1,697
3,775

5,388

84

307 gl2tol ™

t

Al

5,472

1,697
3,775

5,388

84

jél-o;l I:IH:I-XI—OHO|

=22 o

oI CIEHXI&

)
5,472,000&

t

Al

5,472

5,472

1,697
3,775

5,388

84

2
e
e
od
2
i
=)
Rl

JINEAE 22 (&Hl)

H

Al

135,258

54,102
81,156

132,860

2,398

307 glz2tol &

f

Al

135,258

54,102
81,156

132,860

2,398

OXFMNALLUNSHFIIXNELAH F (2 2)
135,258,000&

135,258

135,258

132,860

2,398




A el Zoel
Hm: ZojoI=R PE
el FOHQI=X JIBE A CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 54,102
Al 81,156
0ol HASIES AL (EHI) 20,000 20,000 0
< 8,000
Al 12,000
307 glz2tol & 20,000 20,000 0
< 8,000
Al 12,000
11T M SRAISE EX 20,000 20,000 0
OZOMQ ALSTES ALY 20,000,000& 20,000
< 8,000
Al 12,000
ZoH=X2 24 3,264,746 3,282,038 A1T7,292
307 glz2+0l & 3,264,746 3,282,038 A1T7,292
05 RIZtE = 1,523,036 1,522,410 626
OZMA=EXZ 2N (HFAZHASX2)
1,523,036, 000& 1,523,036
10 ALSISXAIEEE2GH EX 1,741,710 1,759,628 A 17,918
OZHASK D SYXA (AR HA=K 2)
1,741,710,000& 1,741,710
ZOHATII= XN SALEEH 29 139,568 168,604 A 29,036
307 glz2tol & 139,568 168,604 A 29,036
10 AL SXAIEEE2EH EX 139,568 168,604 A 29,036
OFMMAMMINSEXSALME S S XA (1HL)
139,568, 000& 139,568
ZOHQUMEOSANAEEH 29 369,038 349,707 19,331
307 glz2tol & 369,038 349,707 19,331
10 AL SXAIEEE2EH EX 369,038 349,707 19,331
OXMNAUMEOSXNEA 2SN (1)
369,038,000 369,038
oI ESAIE 2 3,503,842 3,154,414 349,428
307 21201 A 3,503,842 3,154,414 349,428
05 BIZHRI & 3 602,135 566,260 35,875
OXHFANENAFAESAIE 2E X (12L)
602,135,000 602,135
10 ALl SXNAIEEE2EHEX 2,901,707 2,588, 154 313,553
OFUESAE 2EXNA(7THL)
2,901,707,000& 2,901,707
=HSgdH 299 304,000 311,620 27,620
307 21201 A 304,000 311,620 AT,620
10 ALSISXAIEEE2IHEX 304,000 311,620 AT,620




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O+HESGHE 2EXA(1HL)
304,000, 000& 304,000
ZOHTHEH 29 699,506 679,964 19,542
307 gl2tol & 699,506 679,964 19,542
10 AL SXNAIEEE2EH EX 699,506 679,964 19,542
OO THEAR 2K (10HA)
699,506,000 699,506
BREMZ 22 (%Hl) 498,457 493,751 4,706
< 149,537
Al 348,920
307 21201 A 498,457 493,751 4,706
= 149,537
Al 348,920
10 M2 SXNANEHES2IHEX 498,457 493,751 4,706
OFXNE M2 2EXIZ(1HL)  498,457,000& 498,457
< 149,537
Al 348,920
ZO0lH=SE&tiote ALK& 11,640 11,640 0
307 glz2tol & 11,640 11,640 0
04 DI2HHALALSE E X 11,640 11,640 0
oZM=&0re
12,000,000& * 13| » 97% 11,640
SMEEHMHR SAH & OlAAAH XI& 35,000 35,000 0
307 gl2tol & 35,000 35,000 0
01 222l 35,000 35,000 0
OAZZHR FEAH Z 0olalHAH X& 35,000
OF4&HE X& 100,000& = 25% » 12& 30,000
OO0lA Z AHl RI& 1,000,000& * 5% 5,000
ZOHQUIISXNJAEH HA= 1,794,212 13,060 1,781,152
401 A& HIZ 201 I 1,794,212 13,060 1,781,152
01 A& HI 1,763,153 7,700 1,755,453
OZOMAINZXNHLAH M= EHHI
93,368,000 93,368
OZOMAINZXNHLAH MAF A=H|
1,669,785,000& 1,669,785
02 Zteltl 20,539 0 20,539
OZOMAINZXNHLAH MA= 2l
1,669,785,000& * 1.23% 20,539
03 A& 2 THHI 10,520 5,360 5,160
OXOHQIIZXNALHE MAS AIE20UHI
1,669,785,0002 * 0.63% 10,520
SSTQ 365 =s=dH 24 350,220 206,400 143,820




M Lol &0H el It
Hm: ZojoI=R PE
Sl ZojeI=X JIBEs (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 350,220 206,400 143,820
11T AISIEXAIEEX 350,220 206,400 143,820
OZSX0HQ! 365 =ESHEH AMEEX
350,220,000& = 1JH 2 350,220
H2AEMO AZEED XA 50,000 50,000 0
307 212t0| & 50,000 50,000 0
11 A EXAIEEX 50,000 50,000 0
OAEOME AZAZHI| &X
1,000,000& * 500+ 50,000
AMHIZOH! X2 3 4,850 0 4,850
307 2I2t0| ™ 4,850 0 4,850
04 CIZ2tSHALALS B X 4,850 0 4,850
OMHMEOHCIERl XHEHS
5,000,000 = 13| * 97% 4,850
OHRIHFAIE QIAXNZOIE &R WS 1,000 1,000 0
201 et Y| 1,000 1,000 0
03 Al A H| 1,000 1,000 0
OZOHUANMFTAIE QIAXZAC &R D=
1,000,000& = 13 1,000
HOIE=SXRAI WE 640 640 0
201 LBt | 640 640 0
03 Al HHI 640 640 0
OESKNIAAN s ZAIS 120,000 = 23] 240
OE=SXN2AI WE 89| 200,000 * 23| 400
SOl 1Ql 1] ZOoHQl DY AtM Sr=H AR AS 187,600 0 187,600
(ZHl)
& 56,280
Al 131,320
307 QI2t0| & 187,600 0 187,600
& 56,280
Al 131,320
11T A EXAIEEX 187,600 0 187,600
OO 121 171 &ZOoHCe I/ MM =AU}
2l At 187,600,000 187,600
o=} 56,280
Al 131,320
HFAl 365Z8 2 ZOQ sS=S4HEH A 1,559,446 0 1,559,446
401 AlEHIZL 2 0HY| 1,559,446 0 1,559,446
01 Al&H| 1,533,616 0 1,533,616
©O3pHE el O ==sHH HE 1,533,616
OAl&Hdl 1,366,650,000& 1,366,650




A el Zoel
Hm: ZojoI=R PE
ool HOjQI=R JlBtES (cHel ® Q)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O& A& A bl 1,366,650,000& * 4.9% 66,966
OBFRIEHl & =2 100,000, 000& 100,000
02 Zeltl 20,910 0 20,910
O35 8 Hofel ssdH 28 2l
1,366,650,0002 * 1.53% 20,910
03 Al 2 THHI 4,920 0 4,920
©3652 8 HoHel SSHH 2HE AIZFUHH]
1,366,650,0002 * 0.36% 4,920
EFA ZOHQ MESANY QABH HAREA 22,000 0 22,000
207 & O & H| 22,000 0 22,000
01 2284 22,000 0 22,000
OZOMY XNE=XNH UHAEE SEI| JI=AH=E
=g 2184 22,000,000 22,000
St= NEHAEUSE K& 100,000 0 100,000
< 50,000
Al 50,000
307 21201 A 100,000 0 100,000
< 50,000
Al 50,000
04 DIZHHALALSE E X 100,000 0 100,000
Oe=2 NME=HAEWNS XA 100,000, 000& 100,000
< 50,000
Al 50,000
ANE2Y Jlgtxd 33,752,425 31,727,908 2,024,517
= 15,441,050
< 2,315,632
Al 15,995,743
O H=AIE A2 082 XA 217,094 217,094 0
= 151,966
< 19,538
Al 45,590
307 glz2tol & 217,094 217,094 0
= 151,966
< 19,538
Al 45,590
11T M 2XAIS EX 217,094 217,094 0
OFMAANFAIE AHILAx Ol XA
217,094,000 217,094
= 151,966
< 19,538
Al 45,590
ZOHANFAIE 29 18,473,544 18,394,613 78,931
= 12,931,481
< 1,662,619
Al 3,879,444




2N
X ZH -
L= B o

el

LS QIEOH Bt

=

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 18,473,544 18,394,613 78,931
= 12,931,481
& 1,662,619
Al 3,879,444
10 MM SAAEEHESIGHEX 18,473,544 18,394,613 78,931
OHMAHFTANLE &4d 18,473,544,000 18,473,544
= 12,931,481
= 1,662,619
Al 3,879,444
OIS I | HF=AILE 2F 354,249 348, 108 6,141
307 gizto| A 354,249 348, 108 6, 141
10 MM SAANEEESIGHEX 354,249 348, 108 6, 141
OFOMAIHF=AIE 2SS XA
354,249,000 * 10 A 354,249
I ZBSMEINE 29 1,471,585 1,458,527 13,058
307 2iz2to| A 1,471,585 1,458,527 13,058
10 MM SAANEEHESIGHEX 1,471,585 1,458,527 13,058
OXMUZBZSMEINANE 2N
1,471,585,000& 1,471,585
ol ZOHIHZ=AE XS 584,190 574,300 9,890
& 116,838
Al 467,352
307 2Iz2to| A 584,190 574,300 9,890
= 116,838
Al 467,352
10 MM SXAANEEHESIGHEX 584,190 574,300 9,890
OMel2d HMHAUAHFTAIE K&
584,190,000 584,190
o=t 116,838
Al 467,352
SEHECHYUANSE A EX2H 49,500 55,000 A5,500
= 14,850
Al 34,650
307 2Iz2t0| & 49,500 55,000 A5,500
= 14,850
Al 34,650
11T AISIEXAIEE X 49,500 55,000 A5,500
OF=4tA YA 2gN
49,500,000 49,500
&< 14,850
Al 34,650
ORI HZAIE JIsSBUA(EX) 222,868 203,710 19,158
= 111,434
= 33,430
Al 78,004




2N
X ZH -
L= B

el

L
sl

o1 2 0f oI 1t

=

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

402 212t Xt=01&

= N H

222,868
111,434

33,430
78,004

203,710

IsEZ(0IEMHH)
222,868,000&

= M W

222,868

222,868
111,434
33,430
78,004

203,710

19, 158

Ol
0z
2
e
-
it}
0z
e
rx
@
Ho
02
W
K

= W

469,998
187,998

84,600
197,400

466,467

3,531

307 21201 &

= W

469,998
187,998

84,600
197,400

466,467

3,531

A S XA E X

OSTHMAXNHMEHH XN (=21)
469,998,000

= 0 H

469,998

469,998
187,998

84,600
197,400

466,467

3,531

=
>

ZOHQI A HEME X (&)

O

= M

290,000

116,000
174,000

270,000

20,000

307 21201 &

H

Al

290,000

116,000
174,000

270,000

20,000

A S XA E X

OZTHM USHMEMEH 2

290,000, 000&

= M

290,000

290,000

116,000
174,000

270,000

20,000

04

Z W

1,426,886
998,820
142,689
285,377

1,351,807

75,079

307 21201 &

= N H

1,426,886
998,820
142,689
285,377

1,351,807

75,079

OF/URAANLE 29 1,426,886,000&

= HnH

1,426,886
1,426,886

998,820
142,689
285,377

1,351,807

75,079
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L= B
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LS QIEOH Bt

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FAURQRAANE JIsEH 458,852 417,988 40,864
= 229,426
Al 229,426
402 2I2H X201 M 458,852 417,988 40,864
= 229,426
Al 229,426
02 2IZE 2 A EZ(OI XM TH ) 458,852 417,988 40,864
OFAMURLANLE JIsE2Z 458,852,000 458,852
= 229,426
Al 229,426
Zoel Megs 249 9,000 7,200 1,800
307 glz2tol & 9,000 7,200 1,800
11T MISXASEX 9,000 7,200 1,800
OFHMUANF=AIE HEE 2EXNA
150,000& » 54 « 12& 9,000
FHAHATHEAE JISE2EZ(=1) 204,940 159,470 45,470
= 102,470
< 30,730
Al 71,740
402 BI2FX=201 M 204,940 130,470 74,470
= 102,470
< 30,730
Al 71,740
02 QI 2 AL EZ (01 XS ) 204,940 130,470 74,470
OotsMESHAF (HHIEL) 73,520,000 73,520
= 36,760
< 11,020
Al 25,740
OSIYLBHESHAF(MES) 71,420,0008 71,420
= 35,710
< 10,710
Al 25,000
OFONAXATHE AL 150 A (LA EHIXIR)
60,000,000& 60,000
= 30,000
< 9,000
Al 21,000
ZOHIMATHEAIE 2 8,410,906 7,666,134 744,772
307 glz2tol & 8,410,906 7,666,134 744,772
05 RIZHRIE 3 620,950 588,630 32,320
OFMNUMNINSEHANLE 2L XA (1HL)
620,950,000 620,950
10 AL SXAIEEE 2 H E2X 7,789,956 7,077,504 712,452
OFMMAXMNATHEANE 2 X (144 2)
7,789,956,000& 7,789,956




2N

LS QIEOH Bt

=

M ZOHQISN PE
R AlE2dY J|etXH (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
NI X FAIS THEAIE JIsEY 52,200 79,000 N 26,800
405 XHoHF S HI 52,200 33,000 19,200
01 XA 2 FF S| 52,200 33,000 19,200
OEZANFRNAZS=ZNZ EEPY
1,400,000& = 304 4,200
OHFAZQFALSHE TP
48,000,000& * 1CH 48,000
OO HF=AILE Z2I/HA)D| dE X 18,848 19,580 ANT32
= 11,309
o= 2,262
Al 5,277
307 212t0| & 18,848 19,580 ANT32
= 11,309
=} 2,262
Al 5,277
11 A EXAIEEX 18,848 19,580 ANT32
OHEOMAHNFTALE Z2IEH) e A
18,848,000& 18,848
= 11,309
o= 2,262
Al 5,277
MEXEH noEsad X 1,023,065 0 1,023,065
= 716,146
o= 92,076
Al 214,843
307 212t0| & 1,023,065 0 1,023,065
= 716,146
o= 92,076
Al 214,843
10 AISIEXAIEEHE2IHIEX 1,023,065 0 1,023,065
OHMAHFTAIE DOHE S
1,023,065,000& 1,023,065
=2 716,146
o=t 92,076
Al 214,843
Ao MSEHME HE S 14,700 0 14,700
401 Al HI L 2 0HHI 14,700 0 14,700
01 Al& H| 14,700 0 14,700
OZUEANMSSHAME HES (B 2EX])
14,700,000& 14,700
HAESHAY (Lol ZOoHel ) 58,143 58,115 28
Jleddl 58,143 58,115 28
Jl2 &34l 58,143 58,115 28
201 LBt Y| 21,683 21,683 0




A el Zoel
H: HER2GEU (= FOHel )
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 21,683 21,683 0
oJl2geda=H(JI&EZHl)
500,000& = 19¥ = 90% 8,550
o=sgd (OIE2dl)
8,000& » 19% + 8% » 12&  90% 13,133
202 Odl 27,360 32,832 AD, 472
01 = LHA YI 27,360 32,832 N5, 472
O=3UaotI(IIEZ4l)
20,0003 = 1998 = 6 » 123 27,360
203 YR =&l 3,600 3,600 0
04 FN2ELRZ=LH| 3,600 3,600 0
©J| & X (200210l 5t) 300,000& = 12& 3,600
405 TtobF S 5,500 0 5,500
01 AL EFSFH S 5,500 0 5,500
O&EX= AL 5,500,000& = 1CH 5,500
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A & 0l & AF 2 E A A
P021EE 2OA QU SRFMD ~ 9T
P~}
My A2t
HE=XEA (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AotE 27,627,522 28,745,997 A 1,118,475
= 3,799,375
J| 8,865,901
< 4,028,077
Al 10,934,169
. AZIE 27,587,468 28,680,315 A 1,092,847
= 3,799,375
J| 8,865,901
< 4,028,077
Al 10,894,115
HE=XE2 4,456,867 4,243,525 213,342
= 335,238
J| 1,740,846
< 616,604
Al 1,764,179
MIHEH X 293 476,676 465,606 11,070
= 325,238
Al 151,438
307 21201 A 476,676 465,606 11,070
= 325,238
Al 151,438
02 IS AHE L 476,676 465,606 11,070
OMZHLIEN 133,000, 000& 133,000
= 106,400
Al 26,600
OXgussd 94,000,000& 94,000
= 94,000
OMZHEH 22l 249,676,000 249,676
= 124,838
Al 124,838
OE&stEAEXH 87,918 67,918 20,000
201 £B-2dH| 25,438 25,438 0
01 At 22/l 23,438 23,438 0
©20219 &= HIISAANE W&
60,0003 = 20& = 95% 1,140
OXO0te dHdESUE HA+E
120,000& * 403 * 95% 4,560
OXOtIts d&BSLUE 29 1,625
OfI=% 10,000& = 3008 = 95% 285
O8=% 70,000& = 30H = 95% 200
Oous % 824
1,000& = 1,200% * 95% 1,140
ONWdgEaINY ASH =& 6,033
OF B M2 400,000 * 10002 * 95% 3,800
O8AAM 5,000& = 10& * 95% 48
O8g2AM AL 10,000& = 1000 = 95% 95




A+ FE S (BIH) - HSAE - B

&

s=

=

i
2m

Od3E HOHoH s

220,0008 * 1044 * 95% 2,090
OGLESZAEZS HA 5,700
SLIE=LT] 2,0002 * 3,000 * 95% 5,700
OJNHO A HBS A@A2 BHAE L A
xE 2,347
O 45 70,0002 * 104 * 95% 67
oo Xt 30,0002 * 6074 * 95% 1,710
0932 10,0008 * 6074 * 95% 570
O0a S ANSENE 2 2,033
ORSAA+T 3500008 * 23| « 95% 665
Onss+o 70,0008 * 23 * 95% 133
OnsxE 2,0002 * 400% * 95% 760
O9+ 0{8as ADENE AN ST HX
10,0008 * 5)H * 95% 475
03 A2 | 2,000 2,000
OSX(MH)HSIIE AyYs AT
2,000,000% * 13l 2,000
203 &2 F bl 7,000 7,000
N EESEEEST 7,000 7,000
O&EE M AlMZ=ZAH 2,000,000& 2,000
OO0 Bt U QIAFHA FH 5,000,000 5,000
207 &) bl 20,000 0
01 e RE ] 20,000 0
O8UNSH w2 20,000, 0002 20,000
301 YBEHD 5,480 5,480
09 BAAHITI 22 480 480
OUEESTAl FHE 519 HAT Al
80002 + 302 * 23l 480
2 JER A 5,000 5,000
OO0& &St ADIEOIE BSal
10,0008 * 203 * 253l 5,000
402 912t 2 0] & 30,000 30,000
01 BT EAS SR (RHH W) 30,000 30,000
O0&EsSIIY KE
3,000,008 * 10744 30,000
CEFHYTE JIB X 2,000 2,000
< 2,400
Al 9,600
307 2120l & 12,000 2,000
< 2,400
Al 9,600
02 QAT MM 12,000 2,000




A 4=
M e . H2IHE

g2l dgdsXsd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMYHE SAA MRH&H X
12,000, 000& 12,000
< 2,400
Al 9,600
OEQE N2 375,960 375,960 0
< 75,205
Al 300,755
101 @14 dl 375,960 375,960 0
< 75,205
Al 300,755
04 JIZHHZ2XNHEE S 375,960 375,960 0
O0HLlE elAHl S 375,960, 000& 375,960
< 75,205
Al 300,755
NHEL200IS3S M A 355,900 355,900 0
201 Let24E] 1,900 1,900 0
01 At 22l 1,900 1,900 0
o4 LR A EE 1,900
(OF=3=%-PN; 1,000& = 2,000% * 95% 1,900
307 glz2tol & 354,000 354,000 0
11T M SXAIS EX 354,000 354,000 0
OLINE LI MG (NFLBESHRA)
330,000,000& * 10H 2 330,000
0O0ld ESEEY 25(IIELRESHEL
Huy) 400,000& = 30 =« 23l 24,000
AU HE LR E ALY 38,800 38,800 0
307 gl2tol & 38,800 38,800 0
02 It HAHEE 38,800 38,800 0
oZFUel HEEFLXE ALY
40,000,000& = 97% 38,800
Ol 8ot EHHE A HI A 24,000 24,000 0
201 Let24d] 24,000 24,000 0
01 At 22l 20,000 20,000 0
OCtA A A2 Y (600 ) 20,000,000& 20,000
02 =224l 4,000 4,000 0
Ot EHH M HI A AlE EHIKXIHl 4,000,000 4,000
ZEHENL AHBEAL HREY 25,000 0 25,000
207 RO ] 25,000 0 25,000
01 A3 3HHI 25,000 0 25,000
CEEIETEINEINEE-1=
25,000,000& 25,000
FHBSF A A 14,994 14,994 0
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AR GRS =
M A HUINE

SR PP (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-l 300,000& = 83l 2,400
-Z= 1t 200,000& = 43| 800
O824 (UE) 400,000& * 23| * 95% 760
(@NE-PAI= 1,000& = 1,500% * 95% 1,425
OHslE, 828 HOHMH,IE=ZH Y 22 1,900
(OF=3--3 2,000& * 1,0005 = 95% 1,900
OHX & dEISEI W= 7,263
OZ A=< 5,040
-JI& 120,000& = 1AI2+ = 123] 1,440
Xt 100,000& » 3AI2+ = 123l 3,600
(OF=E o 70,0003 = 123] = 95% 798
Ousktz 1,000& = 1,500% * 95% 1,425
42 2 SOH0H dgn=s 5,000 5,000 0
307 glz2+0l & 5,000 5,000 0
11T MISRASEX 5,000 5,000 0
O8=Z U S HYDS
,000,000& * 54 & 5,000
IHEES T ESAE 2R 269,969 256,674 13,295
J| 199,958
< 35,005
Al 35,006
307 glz2tol & 269,969 256,674 13,295
J| 199,958
< 35,005
Al 35,006
11T M 2XAIS EX 269,969 256,674 13,295
ONB =YL ESAIE 22X
226,750,000 226,750
J| 158,724
< 34,013
Al 34,013

OJNE=LIi 4t ESAIE Hl== X4l

10,000, 000& 10,000
Il 10,000
OJE == 0ol A HPEEH 6,619,000& 6,619
Jl 4,634
< 992
Al 993
OJNZEZLYIHA ESAE &4 Al HEXNES
26,600,000& 26,600
Jl 26,600
IFEEHIIHA ESAE JIsE2 30,500 8,700 21,800
Il 15,250
= 7,625

Al 7,625




A AEIEN
M e . H2IHE

g2l dgdsXsd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 30,500 8,700 21,800
J| 15,250
< 7,625
Al 7,625
02 QI EAILEZ (01X S) 30,500 8,700 21,800
OB EZYIHA BESAE JIsE2
30,500,000 30,500
J| 15,250
= 7,625
Al 7,625
IHEEH I A XIzsls Z208 2 o224 X 67,620 65,772 1,848
J| 47,334
< 10,143
Al 10,143
307 glz2tol & 67,620 65,772 1,848
J| 47,334
< 10,143
Al 10,143
11T M SRASEEX 67,620 65,772 1,848
OJEFEZHIHA Xgsls T2
54,620,000 54,620
J| 38,234
< 8,193
Al 8,193
OJtZ =l A 2 =Hl 13,000, 000& 13,000
J| 9,100
< 1,950
Al 1,950
IIEEH4Es 29 126,382 122,201 4,181
J| 63,191
< 31,595
Al 31,596
307 glz2+ol & 126,382 122,201 4,181
J| 63,191
< 31,595
Al 31,596
11T MISAASEX 126,382 122,201 4,181
oNEg=E="EdEgs 29 126,382,000& 126,382
J| 63,191
< 31,595
Al 31,596
sSgaEs 24 190,080 183,813 6,267
J| 95,040
< 47,520
Al 47,520
307 gl2tol & 190,080 183,813 6,267
J| 95,040
< 47,520




2N

X{ XH -
S =

SRR (B9 ®R)
= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
Al 47,520
ARSI S XA 2 190,080 183,813 6,267
osgagas 2 190,080, 000& 190,080
J| 95,040
< 47,520
Al 47,520
ALHHE F=HIE 2 37,699 36,629 1,070
J| 26,389
< 5,655
Al 5,655
307 21201 A 37,699 36,629 1,070
J| 26,389
< 5,655
Al 5,655
11T MISXASEEX 37,699 36,629 1,070
O=gTIlaiH & 37,699,000 37,699
J| 26,389
< 5,655
Al 5,655
ZEHIo A n&EX 15,772 15,772 0
J| 11,040
< 2,366
Al 2,366
307 glz2tol & 15,772 15,772 0
J| 11,040
< 2,366
Al 2,366
11T M ZSXASEX 15,772 15,772 0
OB EZYIIoHA n3XNE T2
15,772,000& 16,772
J| 11,040
< 2,366
Al 2,366
ZEMNEL 2SR 410,810 397,466 13,344
Jl| 205,405
< 102,703
Al 102,702
307 glz2tol & 410,810 397,466 13,344
J| 205,405
< 102,703
Al 102,702
A S XA 2 410,810 397,466 13,344
OE=H&EA 410,810,000& 410,810
J| 205,405
< 102,703
Al 102,702
Ed0IoH A ESAIE 514,916 500, 355 14,561




A 4=
M A HUINE

g2l dgdsXsd (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 360,441
< 77,238
Al 77,237
307 i+l & 514,916 500, 355 14,561
J| 360,441
< 77,238
Al 77,237
11T MISXASEX 514,916 500, 355 14,561
Od=ZHIUIcHN ESA4E 29X
514,916,000 514,916
J| 360,441
< 77,238
Al 77,237
SEZS0Io A MAH K& 13,522 8,522 5,000
J| 13,522
307 glz2tol & 13,522 8,522 5,000
J| 13,522
11T M Z2XAS EX 13,522 8,522 5,000
O&=IoHAt ESAIE Hl== A 4AHH X2
13,522,000& 13,522
J| 13,522
dZ4 HiohA Xzgsls 223 85,800 85,800 0
J| 60,060
< 12,870
Al 12,870
307 glz2tol & 85,800 85,800 0
J| 60,060
< 12,870
Al 12,870
11T M ZXASE EX 85,800 85,800 0
O8=" Ik Ngsls T2
85,800,000& 85,800
J| 60,060
< 12,870
Al 12,870
AZY IoH A4 2 =4l 47,550 47,550 0
J| 33,285
< 7,132
Al 7,133
307 gl2tol & 47,550 47,550 0
J| 33,285
< 7,132
Al 7,133
11T M SRASEEX 47,550 47,550 0
O&=% ToHA 2= Hl 47,550,000& 47,550
J| 33,285
< 7,132
Al 7,133




A AEIEN
M e . H2IHE

g2l dgdsXsd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A== mOloi Xk 2-E d| 1,400 1,400 0
J| 980
< 210
Al 210
307 gl2tol & 1,400 1,400 0
J| 980
< 210
Al 210
11T M SRAISE EX 1,400 1,400 0
O&=3 TloHA 2+EHI 1,400,000& 1,400
J| 980
< 210
Al 210
aibtetdldlEe 2 X2 411,563 402,119 9,444
J| 288,094
< 61,735
Al 61,734
307 glz2+0l & 411,563 402,119 9,444
J| 288,094
< 61,735
Al 61,734
11T MISRASEX 411,563 402,119 9,444
Odfittetlldye 2K 411,563,000 411,563
J| 288,094
< 61,735
Al 61,734
S4EZd 0o SsHE S X 7,100 7,200 A 100
J| 5,000
< 1,050
Al 1,050
307 21201 A 7,100 7,200 A 100
J| 5,000
< 1,050
Al 1,050
11T ALS S XAEE = 7,100 7,200 A 100
O&d=dIloHAt =sHIE 100,000& 100
J| 100
OUloH X+ R CHHIE 7,000,000 7,000
J| 4,900
< 1,050
Al 1,050
SHutetdl e, 8= ESAIE JIs22H X 7,500 10,000 A 2,500
%
J| 3,750
< 1,875
Al 1,875
402 RI2EX=201 A 7,500 10,000 A 2,500




A AEIEN
M e . H2IHE

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
Jl 3,750
< 1,875
Al 1,875
02 U EALEZ(0IETHR) 7,500 10,000 A2,500
OdfidtetJI Ml JIsEd 7,500,000 7,500
J| 3,750
< 1,875
Al 1,875
SOHOHIIGHA &gax 29 166,235 208,698 A 42,463
J| 83,118
< 41,559
Al 41,558
307 21201 A 166,235 208,698 A 42,463
J| 83,118
< 41,559
Al 41,558
11 AL SXAEE = 166,235 208,698 AN42,463
OMDOHOHIIGH At & 243 166,235,000& 166,235
J| 83,118
< 41,559
Al 41,558
SOHOHIGH A RIEAE2Y 176,701 111,600 65,101
J| 123,690
= 26,505
Al 26,506
307 glz2tol & 176,701 111,600 65,101
J| 123,690
< 26,505
Al 26,506
11T M Z2XASEX 176,701 111,600 65,101
OXSOHOHIIOH Kt XIRAIE 29
176,701,000& * 1JH 2 176,701
J| 123,690
< 26,505
Al 26,506
SOHOHIIGH At 2 EXI& AH 73,766 44,286 29,480
Jl| 51,636
= 11,065
Al 11,065
307 glz2tol & 73,766 44,286 29,480
J| 51,636
< 11,065
Al 11,065
11T MISXASEEX 73,766 44,286 29,480
OXOHOHIIOH Xt R EXI& AL 73,766,000 73,766
J| 51,636
< 11,065
Al 11,065




SH: OEISD
ZE: 04 ALINE
SE R PEEPE=F CERED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

diillaga Jis2d 12,990 44,674 A 31,684
Jl 6,495
3,248
3,247

= M

402 DIZVRHE 0| X 12,990 44,674 31,684
6,495
3,248
Al 3,247

hn X

o
N
=]
S
-
il
>
Q

12,990 44,674 A 31,684
12,990, 000& 12,990

Il 6,495
= 3,248
Al 3,247

N
or S
ra
=
0

or
0
b H
J
o
i
0

©
0x
2

FootsEAE el U= 20,000 20,000 0
10,000
5,000
5,000

= Hn W

307 21201 A 20,000 20,000 0
10,000
5,000
5,000

= M W

1A SXAIE E = 20,000 20,000 0
OZlots Fad dod W= 20,000,000 20,000
10,000

5,000
5,000

= MW

== 2EAE MM 18,000 18,000 0
5,400
12,600

= M

307 glztol & 18,000 18,000 0

5,400
Al 12,600

H

1A SXAIE 2 = 18,000 18,000 0
ONE=HZHAANE SAML HRIHAH
100,000 = 158 = 123 18,000

5,400
Al 12,600

H

A= 2 AlE 2gH X 90,000 90,000 0
18,000
Al 72,000

H

307 glztol & 90,000 90,000 0

18,000
Al 72,000

H

11T M SXALSE EX 90,000 90,000 0
ONWd=s ZHAANE 28l X
100,000& * 759  12& 90,000

18,000

t




M 08I S
BE: old AYINE
SRR (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 72,000
HEZOHCIASI EHHEHAA 60,000 60,000 0
307 gl2tol & 60,000 60,000 0
11 ALSI S RALEE = 60,000 60,000 0
oO3sXHYET 24l 60,000,000 = 10024 60,000
SOH0H HoHOtsEAYE SN 94,000 0 94,000
J| 47,000
< 23,500
Al 23,500
307 glz2tol & 94,000 0 94,000
J| 47,000
= 23,500
Al 23,500
11T MIEXASEX 94,000 0 94,000
OHDHOH HoiotsEAE NAMGXNALAH 2
& 94,000,000& 94,000
J| 47,000
< 23,500
Al 23,500
ZY0cHHd =AHAXE dHESZS 168 0 168
J| 168
402 BIZHXHE 0| A 168 0 168
J| 168
02 QI 2 AL EZ (01 XS ) 168 0 168
OZHIMHE FHXNH dUHEES(EXHE)
168, 000& 168
J| 168
IR AM 2H 1,847,073 1,584,796 262,277
< 819,965
Al 1,027,108
QI EM HRFA 10,725 11,970 A 1,245
201 £B-2dH| 10,725 11,970 A 1,245
01 At 22l 10,725 11,970 N 1,245
OJ=EZ s UCC WESRT AAX 2
2,500& = 2,00004 = 13| = 95% 4,750
OXMN=EZI 22 HE(OIY) ZAHH M
100,000& » 10JH A = 95% 950
OJ=EES UCC WESRZ AREN THEH (DY)
CHHEXI & HI& 150,000& » 10JH A = 95% 1,425
OUCC WIERA IH=ES ws A=
300,000& = 123l 3,600
0t /THE S 20,000 20,000 0
201 2et24d] 20,000 20,000 0
03 A2 S HI 20,000 20,000 0




2N
X ZH -
L= B
el

eI
s . AYS

QDI A 2

(o
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
OFFO, AHES M=
10,000,000& = 23| 20,000
A6 O, Sole §H ASZAHE 9,000 10,000 A 1,000
201 gBt24y| 9,000 10,000 A 1,000
03 A2 G HI 9,000 10,000 A 1,000
OALAE2ME A 9,000,000 = 13| 9,000
IIEAME XE22 A 18,000 18,000 0
201 LBt 13,000 13,000 0
03 A2 EH| 13,000 13,000 0
OJIZ AN XNE22 A 13,000,000& * 13 13,000
301 et M= 5,000 5,000 0
12 JIEtE A= 5,000 5,000 0
OJIEAMNE XNGE22Z 228 AlM2
5,000,000& 5,000
HEHUE HMEZL 13,500 15,000 A 1,500
201 LBt Y| 13,500 15,000 A 1,500
03 Al H H| 13,500 15,000 A 1,500
OFZ=EHYUHE s do2nz 2 JH=x
6,750,000 = 23| 13,500
AAUSH S 25 Zd(=s=sd=2Z2=2H) 1,639,930 1,473,554 166,376
& 819,965
Al 819,965
308 XHXIEH SOl A 1,639,930 1,473,554 166,376
& 819,965
Al 819,965
11 2I|2SHUSHEAXERAEASH] 1,639,930 1,473,554 166,376
OHLs HEXH 23 ZH(E=2dH=2SZ2AH
) 1,639,930, 000& 1,639,930
& 819,965
Al 819,965
JIEZS UCC HERA /35S 17,000 17,000 0
201 LBt 9H]| 17,000 17,000 0
03 A2 G| 17,000 17,000 0
OJIEZS UCC UWERKAD |F3asE
17,000,000& = 13 17,000
2 X 2H(COMM. %0 . 42)0IS K2 AtY 18,918 19,272 A 354
101 124 4] 5,158 5,472 AN314
04 J|I2ZtHIZ22NEES 5,158 5,472 AN314
o&2X e 02 s2xz)d 29 UM %
8,720 x 3AI2F » 48 x 48Y 5,023
ox2X e 02 s2xz)d 29 UM I
= 5,023,000& * 1.65% 83




SN HAIED
HEM: A . AHALIS
Sl ATIM AM 2Y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OBX e 0l ssx=z0d 29 MUXMX At
B&8= 5,023,000 * 1.03% 52
201 B9 13,440 13,440 0
01 AFR2 2t 2| H| 13,440 13,440 0
OBX e 02 ssTz)d 2AIxE
35,000 * 2Al2F * 483 *~ 402 13,440
301 LBt A= 320 360 AN 40
09 HAIAHI X & 2 320 360 AN40
OBX & 0l EWA F3As M=
88,0008 = 20 x 23] 320
MNEEE FeHMANAS W0l A X 100,000 0 100,000
301 et M= 100,000 0 100,000
01 Al E& A 253 100,000 0 100,000
ORNERSR FHAAMNXN=S WSO0IA K&
1,000,000& * 1002t=* 100,000
IIEI| s &kat 21,283,528 22,851,994 A 1,568,466
= 3,464,137
J| 7,125,055
& 2,591,508
Al 8,102,828
SHER2IIE IHEHY=EH S N (0t=s2=H|) 7,056,590 6,555,024 501,566
J| 5,645,272
& 705,659
Al 705,659
301 et M= 7,056,590 6,555,024 501,566
J| 5,645,272
= 705,659
Al 705,659
01 Al B & X 262 7,056,590 6,555,024 501,566
OSt2E2IIE NEHLYSH S XA (0tS2=H|)
7,056,590,000& 7,056,590
J| 5,645,272
o= 705,659
Al 705,659
HAESED XN (0t=S2=H) 143,670 93,959 49,711
J| 114,936
& 14,367
Al 14,367
301 dEtE M= 143,670 93,959 49,711
J| 114,936
& 14,367
Al 14,367
01 Al B & X 262 143,670 93,959 49,711
oxdAdEER XA (0IsSLSH S)
143,670,000 143,670
J| 114,936




AN GEIEY
HE: old ALINE
SR ESELN CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 14,367
Al 14,367
HAYE 0222 HEI2 2 51,760 51,176 584
J| 25,880
< 12,940
Al 12,940
307 glz2tol & 51,760 51,176 584
J| 25,880
< 12,940
Al 12,940
11T M SRAISE EX 51,760 51,176 584
OXIHEOIELE . BX HEI|2 294
51,760,000 51,760
J| 25,880
< 12,940
Al 12,940
SIRRIIE SXAIE 4% &5 . X=H X3 22,000 18,740 3,260
J| 11,000
< 5,500
Al 5,500
307 glz2tol & 22,000 18,740 3,260
J| 11,000
< 5,500
Al 5,500
11T M SRAISE EX 22,000 18,740 3,260
OBIRX2IIE SXAE YaX &5 . =4 X
2 22,000,000& 22,000
J| 11,000
= 5,500
Al 5,500
SSMHEIIIFSE (YY) =AHAXSH 49,100 48,200 900
J| 49,100
307 21201 A 49,100 48,200 900
J| 49,100
11 ALS S RAEE = 49,100 48,200 900
OSSHEIITH (MY LM) FHR
49,100,000& 49,100
J| 49,100
SR RItE HHeHl XA (<) 557,400 557,400 0
< 111,480
Al 445,920
301 LerBAF 557,400 557,400 0
< 111,480
Al 445,920
01 Ml28E 6= 557,400 557,400 0
OstR 2= eyl XI& 557,400,000 557,400
< 111,480
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| Al 445,920
StREEIE=XANE 29 630,433 587,730 42,703
307 gl2tol & 630,433 587,730 42,703
10 AL SXNAIEEE2EHEX 630,433 587,730 42,703
OBR2IIE SXAE 2 (3 )
630,433,000 630,433
SXUESAE 840 HEHEFZ NS 18,000 20,000 A 2,000
301 LB AF 18,000 20,000 A 2,000
01 AR 2Z A 53 18,000 20,000 A 2,000
ORXNESALE 84Xt HEZEZ NA
3,000,000 = 6AICH 18,000
SFRERIIZNU=)ls=8H N 30,000 30,000 0
301 LEEBASF 30,000 30,000 0
01 MEIBEE 263 30,000 30,000 0
OSR2IIE MU= JI=Ed Xl
1,000,000& = 23 * 159 30,000
SHRERIIE=XNAE JIsES 20,000 11,217 8,783
401 A& HIZ 201 8] 20,000 11,217 8,783
01 A& HI 20,000 11,217 8,783
OStERIIE=XNANE JsEZ (BFH2E0IS
) 20,000,000& * 102 20,000
SHRR2IIE SEXAIE Ol0ISsHMEA XA 136,813 154,654 A17,841
J| 95,769
< 12,313
Al 28,731
307 glz2tol & 136,813 154,654 A17,841
J| 95,769
< 12,313
Al 28,731
11T MISRASER 136,813 154,654 A 17,841
Ost=22IIE =SXAIE Ol0IS8 AUlA X
136,813,000& 136,813
J| 95,769
< 12,313
Al 28,731
HS0SAE 22X A 4,850 4,850 0
307 g1zl & 4,850 4,850 0
04 DIZHHALALSE E X 4,850 4,850 0
OSR2IIE #o 5,000,000& * 13l » 97% 4,850
2208 - U2 XNJAEEH AIEEH |Xdl 2,646 2,027 619
201 L2l 2,646 2,027 619
02 2324l 2,646 2,027 619
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< 45,965
Al 45,965
11T M SXASEX 183,860 179,000 4,860
OFARININE NEAEY 183,860, 000& 183,860
= 91,930
< 45,965
Al 45,965
SES|0tUsEH 2 (2 1) 215,312 130,260 85,052
J| 107,656
= 32,297
Al 75,359
307 21201 A 215,312 130,260 85,052
J| 107,656
< 32,297
Al 75,359
11T AR SXAIEE = 215,312 130,260 85,052
O3=S0tUsH 2F (404)  215,312,000& 215,312
J| 107,656
= 32,297
Al 75,359
SSER0tUsH Y (XHA) 20,000 0 20,000
402 RI2FX=01 M 20,000 0 20,000
01 2I2F 2 A B (KM TH ) 20,000 0 20,000
oags BSs0LUsH =4
20,000,000& * 1JH 4 20,000
=0l XAt FEXH 22,290 22,290 0
201 £B-2dH| 950 950 0
01 At 22l 950 950 0
OAMZBZHEIN W, A= ZH M
100 000& * 10 = 95% 950
307 21201 A 21,340 21,340 0
04 DIZFHALALSE E X 21,340 21,340 0
OUZ st M & & Al 20,000,000& * 13| » 97% 19,400
O%2=¢0lu EMote NS2HME
50,0003 = 40H = 97% 1,940
A20H1E U2 EXA Sg84dH 29(=21) 532,080 438,700 93,380
J| 266,040
S 79,812
Al 186,228
307 glz2tol & 532,080 438,700 93,380
J| 266,040
< 79,812
Al 186,228
05 RIZIRI & 3 532,080 438,700 93,380
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OAHZIE - UhI2aIIEXNJAEEH 29
532,080,000 532,080
J| 266,040
< 79,812
Al 186,228
CGEsIEXNdH 2Z(=21) 165,300 151,300 4,000
J| 77,650
< 23,295
Al 54,355
307 glz2tol & 155,300 151,300 4,000
J| 77,650
< 23,295
Al 54,355
05 RIZHRIE 3 155,300 151,300 4,000
OLZ2IEXNIALNH 2 (HE)
155,300, 000& 155,300
J| 77,650
= 23,295
Al 54,355
OG2stEXJAdH2F 80,000 80,000 0
307 gl2tol & 80,000 80,000 0
11 AL S RAEE = 80,000 80,000 0
OUSAINEXNHMYH Z20 2AXA(HF)
50,000,000& * 1JH A 50,000
OUSAINEXNHAYH Z20 2HXA(HLA)
30,000,000& * 1JHA 30,000
C23NEXNJHEH SAR ML IHAHI 18,000 20,400 A 2,400
< 5,400
Al 12,600
307 21201 A 18,000 20,400 A 2,400
< 5,400
Al 12,600
11T AL SXAIEE = 18,000 20,400 A 2,400
OUISIEXNAHEE SAX MM AHI
18,000, 000& 18,000
< 5,400
Al 12,600
Ch23its SHIAXIA(ZHl) 27,509 27,509 0
< 13,754
Al 13,755
307 21201 A 27,509 27,509 0
< 13,754
Al 13,755
11T AR S XA E =X 27,509 27,509 0
OLI2stIts SHAXR (FH) 27,509,000 27,509
< 13,754
Al 13,755
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M- o9 (B H) - MEAY - B2 %Ei HR=2
SIS S43 AY 843,237 724,366 118,871
J| 421,617
& 126,485
Al 295,135
307 2Iz2to| & 843,237 724,366 118,871
Dl 421,617
= 126,485
Al 295,135
11T A EXAIEEX 843,237 724,366 118,871
OUR3IIE E43 MY (AEZF)
485,340,000& 485,340
J| 242,669
= 72,800
Al 169,871
OUR3IE E43 AHH(HHA)
357,897,000 357,897
J| 178,948
& 53,685
Al 125,264
SIIFASMHH A 40,000 40,000 0
o=t 20,000
Al 20,000
307 2Iz2t0| & 40,000 40,000 0
& 20,000
Al 20,000
11T AISIEXAIE EX 40,000 40,000 0
O#HEINZSALAHUIA(EF) 20,000,000 20,000
& 10,000
Al 10,000
OHEINZSALMHHIA(ESR) 20,000,000 20,000
& 10,000
Al 10,000
ZH0H0IF=THE BEsAE 29X 204,512 199,219 5,293
J| 146,158
= 29,177
Al 29,177
307 212t0| & 204,512 199,219 5,293
J| 146,158
o= 29,177
Al 29,177
10 M SXNANEEHESIHEX 204,512 199,219 5,293
OZ&Ilol 0IF0HHE ESAE 24 204,512
O=EIol 004 BESAdE 29
194,512,000 194,512
J| 136, 158
= 29,177
Al 29,177
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OZIol 0|0 BEsAA EIAA IEX
A= 10,000,000& 10,000
J| 10,000
ZAHT|oH O|FTHAYE ESAIE B2 5,000 1,500 3,500
Jl 3,500
= 750
Al 750
402 BI2H X201 M 5,000 1,500 3,500
Dl 3,500
= 750
Al 750
02 CIZEXIEANSE X (0| XM THL) 5,000 1,500 3,500
OZAMH 0IF04 2B5AE AFBY
5,000,000& 5,000
J| 3,500
< 750
Al 750
ESMEBHAS X (XA 848,000 934,500 A 86,500
301 et M3 848,000 934,500 A 86,500
01 AISIE& A %52 848,000 934,500 A 86,500
OsAMEHZ AA 848,000
O1XH 300,000& * 2,600 780,000
O1XE &8 FIHXZ  200,0008 * 140 28,000
O2XHH4 500,000 = 40™H 20,000
O3XH4 1,000,000 * 20™H 20,000
EMBHSXNHA(EX) 4,200,000 4,706,400 A 506,400
== 840,000
Al 3,360,000
301 LBt A= 4,200,000 4,706,400 A 506,400
= 840,000
Al 3,360,000
01 Al E & A 462 4,200,000 4,706,400 A 506,400
OsMEHS XA 4,200,000,000& 4,200,000
=} 840,000
Al 3,360,000
S8 2HIS FOJleE =20 A 29 7,000 7,000 0
307 2izto| A 7,000 7,000 0
11T AISIEXAIEEX 7,000 7,000 0
02 2HIS Ot B30 DA 29
7,000,000& * 1JHA 7,000
ZA0H 0lF0HAE A 2 288,100 281,197 6,903
J| 144,050
& 72,025
Al 72,025




SH: OEISD
ZE: 014 ALINE

e JIE )| sEA (2 &HH)
4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 288,100 281,197 6,903
J| 144,050
& 72,025
Al 72,025
10 MM SAAEEHESIGHEX 288,100 281,197 6,903
OZH0ol OlF0E ML 2
288,100,000& 288,100
J| 144,050
& 72,025
Al 72,025
SIHERIIE EXAIE AMIERRA o AY| 16,427 14,445 1,982
J| 16,427
301 et A= 16,427 14,445 1,982
Jl 16,427
0B AISI=ER2IAL A= 16,427 14,445 1,982
OStER2IIE EXAIE Al ERRH o AY|
16,427,000 16,427
J| 16,427
SSF0tU=sH SAHA SIS G| 3,600 0 3,600
o= 1,080
Al 2,520
307 2Iz2t0| & 3,600 0 3,600
o= 1,080
Al 2,520
11 A EXAIEEX 3,600 0 3,600
OZ2s=0lUsH SAHA MR A Y|
3,600,000 3,600
o= 1,080
Al 2,520
HHSAAY (A=) 40,054 65,682 A 25,628
olad 2 A Y| 3,903 7,567 AN 3,664
JIEtE B 4 3,903 7,567 AN 3,664
101 21 21d| 3,903 7,567 AN 3,664
02 JIEtE 2 % 3,903 7,567 AN 3,664
OANZHA2 2 (LBAIIH)
10,8418 = 1 = 30Al2t ~ 12& 3,903
Jleddl 36, 151 58,115 A 21,964
Jl2 &4l 36, 151 58,115 A21,964
201 LBt ]| 14,392 21,683 NT,291
01 AP 22| H| 14,392 21,683 ANT,291
OJl2gss A
500,000& * 132 x 90% * 97% 5,675
o2l (J1=4Hl|)
8,000€ * 13%H * 82 * 12&€l * 90% * 97% 8,717
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202 Od4dl 18,159 32,832 A 14,673
01 = LH 4 Hl 18,159 32,832 AN 14,673
OJIEZHI
20,0003 » 13% = 6 * 128 * 97% 18,159
203 YR =&l 3,600 3,600 0
04 RENSEHR=LH| 3,600 3,600 0
©J| & X (202! Oldt) 300,000& = 12& 3,600
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Ots 2= 334,399,451 316,844,818 17,554,633
=2 173,771,908
J| 1,241,461
= 98,692,902
Al 60,693,180
Ots &st, B 333,724,172 316,334,254 17,389,918
= 173,434,619
J| 1,241,461
< 98,661,749
Al 60,386,343
Ots=XDIgtEH 87,022,468 83,208,099 3,814,369
= 49,948,919
J| 1,241,461
< 9,029,332
Al 26,802,756
OtsS&SEA =4 58,030 65,834 AT,804
201 et 47,959 33,834 14,125
01 At 2teltl 18,904 18,834 70
Oo0ts delun= 1,666
OO0tz dH2lus Z At 350,000& = 43| 1,400
O0ts delus s+
70,000 = 404 = 95% 266
OF0tIle OtsH WS 10,588
OX0tits Otsd2ln=s Wbl
3,000& = 3008 = 95% 855
OXo0tits OtsAclus S+
70,000& = 200 = 95% 133
OO0tz Ots22ln=s Z At
120,000& * 802l 9,600
OO0lsaEAl & Otsdel 224l 6,650
OF=3-3-—-1_ 3,000& = 1,0000H * 95% 2,850
OFIE L 2,000& = 2,000% * 95% 3,800
02 =224l 5,000 5,000 0
OOts& s Al ANEEBEE23 3l
5,000,000& 5,000
03 &Ar2 I 24,055 10,000 14,055
O0ts&EHREs 2 14,055, 000& 14,055
O0ts 449 M WM U3 10,000, 000& 10,000
203 R =&t 2,000 2,000 0
03 A F=XH R =AY 2,000 2,000 0
OAH=XH I =AY 2,000,000& 2,000
307 21201 A 8,071 8,000 71
02 B AAHE X 8,071 8,000 71
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= 180,000
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Al 60,200
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= 100,000
< 40,000
Al 60,000
01 A& HI 200,000 100,000 100,000
otgnssdH &Il
50,000,000 = 404 A 200,000
= 100,000
< 40,000
Al 60,000
405 THobH S 80,000 38,394 41,606
= 80,000
01 AL EFSFHSHI 80,000 38,394 41,606
OUEHN=SSHEH Il X
20,000,000 = 404 A 80,000
= 80,000
Oelole A 71,498 71,598 A 100
201 L2l 1,900 2,000 A 100
01 At 2t 2l 1,900 0 1,900
O ol A H&F M=
10,000& = 20000 = 95% 1,900
307 glz2tol & 69,598 69,598 0
04 DI2HHALALSE E X 69,598 69,598 0
ONgole At 69,598
OF=0&ol 2&XI& A
61,750,000& = 97% 59,898
OO0 ole SOHEA 10,000,000& * 97% 9,700
CIEtH Ss4dH 228 XNJ(21) 21,600 5,400 16,200
= 10,800
< 4,320
Al 6,480
307 gl2tol & 21,600 5,400 16,200
= 10,800
< 4,320
Al 6,480
05 BIZERI & 3 21,600 5,400 16,200
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10,608
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CHEIN ssSdE 224 XIS (XHA) 100,000 39,600 60,400

307 21201 & 100,000 39,600 60,400

&= 100,000 39,600 60,400
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100,000, 000& 100,000
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Al 26,166
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Ots=XAE 24 7,819,624 8,225,046 N405,422
307 gl2tol & 7,819,624 8,225,046 NA405,422
10 AL SXNAIEEE2EH EX 7,819,624 8,225,046 N405,422
Oots=X A4 294 7,819,623,250& 7,819,624
Ots=XAlIE ¢l XI& 18,400 18,800 A 400
307 glz2tol & 18,400 18,800 A 400
11T M SXAISE EX 18,400 18,800 A 400
OOtSEXAIE HUH (XNHotsHEH, 1)
100,000& » RIM A « 23 18,400
Ots=XIAIE Ots MEssH 8,500 9,500 A 1,000
307 gl2tol & 8,500 9,500 A 1,000
11T M SXAISE EX 8,500 9,500 A1,000
O0tsS=XAIE OtsHE S S 8,500
O0tsL=EA- 1,000,000& * 40 2 4,000
OCOEs 250,000 * 180K A 4,500
RES0ls 088 22 XA 1,337,445 1,293,750 43,695
J| 534,978
< 240,740
Al 561,727
307 glz2+ol & 1,337,445 1,293,750 43,695
J| 534,978
= 240,740
Al 561,727
10 ALSISXAIEEE 22X 1,337,445 1,293,750 43,695
ORES0ES OEE 2IHI(1501A)
1,337,445,000& 1,337,445
J| 534,978
< 240,740
Al 561,727
H3BAIE=S ABZA 1,110 0 1,110
201 ¢4l 1,110 0 1,110
01 At 2t 2l 1,110 0 1,110
OANES AHEZA EE
369,831& = 1& = 304 1,110
SSHEIFH(OEE) HEH XA 9,000 9,000 0
307 gl2tol & 9,000 9,000 0
11T M 2XALSE EX 9,000 9,000 0
O&8E el 500,000& * 18K A 9,000
AMeots&DM XA 46,728 50,232 A 3,504
= 18,691
Al 28,037
307 glz2tol & 46,728 50,232 A 3,504
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| Al 8,767
AEAEHINE L ANEEAOIS S ANEASE 350,000 350,000 0
301 et A= 350,000 350,000 0
01 Al E& A %52 350,000 350,000 0
OAEAEHIIA L AEEIAOS S NEXNIASB
(1009) 350,000,000 350,000
ety X & 8,100 3,700 4,400
J| 5,670
& 729
Al 1,701
301 et ™M= 8,100 3,700 4,400
J| 5,670
o= 729
Al 1,701
01 Al E& A %52 8,100 3,700 4,400
OUAHI2 XA (3H) 8,100,000& 8,100
J| 5,670
& 729
Al 1,701
UAOES =LA 347,406 313,350 34,056
J| 243,184
& 31,265
Al 72,957
301 et A =2 347,406 313,350 34,056
J| 243,184
& 31,265
Al 72,957
01 Al B & A 462 347,406 313,350 34,056
OYAOISAS LS X &(1928) 347,406,000& 347,406
J| 243,184
= 31,265
Al 72,957
Z0i0lS YAAR EX= 9,074 16,598 NT,524
J| 6,352
=} 817
Al 1,905
301 et M= 9,074 16,598 AT ,524
J| 6,352
=} 817
Al 1,905
01 Al E& A 63 9,074 16,598 NT,524
OXHOISYAAESE X2 (1Y) 9,074,000& 9,074
J| 6,352
& 817
Al 1,905
Ots&d olg ws 2,372 1,140 1,232




2N

ots=2su

g ots &a, 2=
& otsEXIIBtEd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 2,372 1,140 1,232
01 At 22l 2,372 1,140 1,232
OO0tssttl Hgns 2,372
OO0l Glgdu=s 2 At
230,000& * 83 1,840
OOtssll olgus =%
70,0003 = 8JH * 95% 532
geF=colt 2N 700 1,400 A700
J| 490
< 63
Al 147
301 LEEXS 700 1,400 A700
J| 490
< 63
Al 147
01 MEIBEE 2053 700 1,400 A700
OYL=ed2t XA 700,000& = 19H 700
J| 490
< 63
Al 147
24 Fota N 12,000 12,000 0
< 3,600
Al 8,400
301 LA F 12,000 12,000 0
< 3,600
Al 8,400
01 Ml28E 6= 12,000 12,000 0
oOYL=s2 XA (1Y) 12,000, 000& 12,000
< 3,600
Al 8,400
AN AHS L (X SR 2E2) 252,105 212,300 39,805
308 X EHHSOIA 252,105 212,300 39,805
07 IXNHHARE = 252,105 212,300 39,805
OJNEAESXNNELE 2 252,105,000& 252,105
IS XNEAH WS (ISt 2E2) 7,976 8,028 AB2
308 XXM SOIA 7,976 8,028 AB2
07 IXNSHH AR S = 7,976 8,028 AB2
ONEAEXNJHYH e 7,976,000 7,976
ots+g MEFEHI(=2) 17,899 19,198 A1,299
= 12,528
= 1,611
Al 3,760
201 et 17,899 19,198 21,299
= 12,528




2N
X ZH -
L= B

el

OtsEs
ots &sat, B=
otsSEXolgtxd

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,611
Al 3,760
01 At 22l 17,899 19,198 21,299
O0ls+% 2ZXA 17,899, 000& 17,899
= 12,528
< 1,611
Al 3,760
ots=¢g X (=21) 55,929,000 54,585,050 1,343,950
= 44,744,000
= 3,355,000
Al 7,830,000
301 LEEAF 55,929,000 54,585,050 1,343,950
= 44,744,000
< 3,355,000
Al 7,830,000
01 AR 2Z A 353 55,929,000 54,585,050 1,343,950
Oots+42 =0(46,608%)  55,929,000,000& 55,929,000
= 44,744,000
< 3,355,000
Al 7,830,000
OtsSaXE(3) 4,828,250 4,828,250 0
301 LEMZ 2,060,000 2,060,000 0
01 MEI2ZE 06z 2,060,000 2,060,000 0
OOl=s= AR (L =) 2,060,000, 000& 2,060,000
307 21201 A 2,768,250 2,768,250 0
11T MISRAMSER 2,768,250 2,768,250 0
OOtsSAX & (XHotsHH)
5,000& = 2,200 * 250 2,750,000
OOtsSEAXE (HASIHES)
5,000& = 1098 « 365¢ 18,250
Ots24 U (SIIS) 3,862,200 2,280,000 1,582,200
< 3,862,200
301 LEXZ 3,862,200 2,280,000 1,582,200
< 3,862,200
01 MEIBEZE 05z 3,862,200 2,280,000 1,582,200
oots=4A SHUXA(EIS)
6,000& = 4,100F * 157 3,862,200
< 3,862,200
Ots 2 & X3 A & 648,801 630, 186 18,615
= 454,161
< 58,392
Al 136,248
301 LEXZ 648,801 630, 186 18,615
= 454,161
S 58,392




Sk

X FH -
o Tt
el

otseE2=1t
ol &g, 2%

otsSEXolgtxd

(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 136,248
01 Al B & A 462 648,801 630, 186 18,615
OLIYMAEZ XI2(1,387H) 648,801,000& 648,801
= 454,161
o= 58,392
Al 136,248
XG0S HEH 3UYE2EI 9,700 9,700 0
307 QI2t0| ™ 9,700 9,700 0
04 CIZ2tSHALALS B X 9,700 9,700 0
OXYGotsHdH SULE2EX
10,000,000 * 97% 9,700
NEOotsSHE &EEA G 4,850 4,850 0
307 QI2t0| ™ 4,850 4,850 0
04 CIZ2tSHALALSE B = 4,850 4,850 0
OX<EotsHdEH ZEMAISZ 5,000,000 * 97% 4,850
NEotsSHEH 2 XA 5,496,548 5,159,520 337,028
= 2,748,274
o= 824,482
Al 1,923,792
307 212t0| & 5,496,548 5,159,520 337,028
= 2,748,274
= 824,482
Al 1,923,792
10 M SXNANEEHESIHEX 5,496,548 5,159,520 337,028
OXNAOISHE Jl=229H| (740 A)
5,398,080,000& 5,398,080
= 2,699,040
= 809,712
Al 1,889,328
OX<E0otsHdEH ZI18ED] A& 71,828,000 71,828
= 35,914
= 10,774
Al 25,140
OSoId et el 0l
SO,OOOEJ * 7402 = 12&€ 26,640
= 13,320
& 3,996
Al 9,324
NE0tSHE SALALF =X 4,850 0 4,850
307 2iz2to| A 4,850 0 4,850
04 QIZ2tSHALALS B 4,850 0 4,850
OXNYOotsSHE SAAH =X
5,000,000& * 97% 4,850
NNE0ISHE 2 (29 FIHXLH) 50,100 51,600 A 1,500
= 20,040




2N
X ZH -
L= B
el

ot EJEP, 25

otsSEXolgtxd

SN - EAEA) - MRAL

01
o

Off &t 24

=

i
2m

Al

30,060

307 21201 A

= M

50,100

20,040
30,060

51,600

A 1,500

10 AFRIS XA EHE 23

OXYotsHE 2Ll FIOHXIE (744 4)
50,100,000&

H

e

= M

50,100

50,100

20,040
30,060

51,600

A 1,500

Jm
0x
e
fal
12
(=)
O
X

g =X &

= N W

170,256
85,128
25,538
59,590

95,004

75,252

307 21201 &

= H

170,256
85,128
25,538
59,590

95,004

75,252

609,000& = 12004 = 128

OER2Y XA0tsdH FIHXA
304,000& = 200HA = 128

o=

0H

g Zet 422X

400,000& = 24 = 128

= M W Z MW

= N

170,256

87,696
43,848
13,154
30,694

72,960
36,480
10,944
25,536

9,600
4,800
1,440
3,360

95,004

75,252

ANS0tsHEH SZHe X2

= 0 W

160,000
80,000
24,000
56,000

323,410

A 163,410

402 212t Xt=01&

= N H

160,000
80,000
24,000
56,000

323,410

A 163,410

02 QA 2AMLEE(0IXTHE)
2

ou=el2d X2 (8HA) 160,000,000&

= N W

160,000

160,000
80,000
24,000
56,000

323,410

A 163,410

701,815
280,727

538,950

162,865




2N
X ZH -
L= B
el

ot alsh 25

otsSEXolgtxd

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 126,327
Al 294,761
307 QI2t0| ™ 701,815 538,950 162,865
Dl 280,727
< 126,327
Al 294,761
11 A SAAEE X 701,815 538,950 162,865
OSHIloHotSaE S| (4HA)
701,815,000& 701,815
Jl 280,727
= 126,327
Al 294,761
Ol &0l et AtE =& 16,768 0 16,768
201 et A bl 16,768 0 16,768
01 At 22l bl 16,768 0 16,768
OOts& U LAY FAHI 16,768
Oz} 1,500& * 4,000 * 95% 5,700
OsE=8 2,000& * 5,00008 * 95% 9,500
(@F=3=0: 15 33,000& = 5000 * 95% 1,568
OlSS Al 2Z25AHLY 61,370 0 61,370
201 Bt A H| 16,470 0 16,470
01 AP 2t2l bl 10,270 0 10,270
Ooo0ts&sl aAa 24 950
oag =32 5 28 200,000 * 95% 190
Og o 800,000& * 95% 760
OltsEsE /s 82X 24 L HWESRAa #
= 8,930
@)=E==4 70,000 = 2000 * 95% 1,330
OXNYZLIHEH &5 == HE
3,200 * 2,500 * 95% 7,600
oget 24| 390
OSSXE CIEA 60,000& * 100 * 95% 57
ORI &&= 350,000& * 1CH * 95% 333
02 352494l 6,200 0 6,200
02222 % MM (EIIX) 6,200
OXsxeds 1,000,000& * 1CH 1,000
O Rt & BHH| 1,500,000& = 1CH 1,500
O XS XA 100,000& * 1CH 100
OFUES AIE= 50,000& = 6 ~ 128 3,600
301 et M= 2,500 0 2,500
01 M BEE2G2 2,500 0 2,500
osttfuloiolts gaxzdl XA 2,500
Onldiots S X =Hl 50,000& * 203] 1,000




AN OlSESD
3 0ts s, EF

e oSS XJI8txY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Ollaiots L& Xl 24| 75,000 = 203 1,500
307 QI2t0| ™ 4,400 0 4,400
o1 s R=tl 4,400 0 4,400
OLbdlots ¥ SRR AelZAb & XIS H| 4,400
OIlldliols & SHHMAX Alel2ZA & X2
ul] 220,000& » 20¥ 4,400
405 XHA&HF S HI 38,000 0 38,000
01 XML 2 FF S| 38,000 0 38,000
O0l=S ] S&EZA 222 S8 el 38,000
O (SM3.ze) 34,000,000& = 104 34,000
OosHE ¢ 500,000 * 6CH 3,000
O2tHiet 2¢ 500,000 = 2CH 1,000
OIEESHSIBASY(VAXSHA 223) 304,857 255,651 49,206
308 XAXISHHM SO0l & 304,857 255,651 49,206
07 AIXISHHZ2EES 2 304,857 255,651 49,206
O0lsESsdEIN& 84 304,857,000& 304,857
OISESHSIIZ R+ (UASH 2E2) 26,533 23,528 3,005
308 AMXISHMSOIA 26,533 23,528 3,005
07 MHXSHH2AESZ 26,533 23,528 3,005
OOl=sSEsHRI|2 HRLTE 26,533,000 26,533
ols=i2a2d 170,123 165,253 4,870
101 Q124 H| 28,837 26,365 2,472
04 JI2ZtHIZ22ANEES 28,837 26,365 2,472
OFEZ 22X l2Hy|
81,340& * 1Y = 262 » 128 25,379
O=EEZ SXEQE 300,000 = 1H 300
OB&8sZ JI&a8dg=2 2,758
Oo=281Hd3 25,379,000& * 4.5% 1,143
OAH2dEE 25,379,000& * 3.335% 847
OINAESE L2 847,000 * 10.25% 87
[@INE=3h=: R 25,379,000 * 1.65% 419
OMIEEREEZS 25,379,000& * 1.03% 262
OY & S IHy| 200,000€ * 1€ « 23| 400
201 et 139,347 135,901 3,446
01 AP 2t 2] H| 15,921 13,717 2,204
orxz)d¥ 2= HH
300,000& * 6= * 95% 1,710
oYL= 6,413
O&I| ot™ 22| 200,000 = 12€& * 95% 2,280
Os2dI| ot &g 150,000 * 128 * 95% 1,710




Sk

N

= . L

3 0ts s, EF

& otsEXIIBtEd (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OsdJl EI1EZ 150,000& * 13| = 95% 143
OLAId HIIEH
200,000& = 12& = 95% 2,280
ORAE =t 219
O33712 AYotd2AI Tt NF
200,000& = 19 = 13| = 95% 190
OsdJ)| 2l B=s
30,000& = 19 = 13| = 95% 29
O&F=J|l A 2eltl
20,0003 = 3CH = 12& = 95% 684
OM=Zx EAUdE=
600,000& = 13| = 95% 570
O3sE HFA 11,700& = 50& = 13| » 95% 556
OFA &A=
1503 * 1,654m * 123] » 95% 2,829
ORo&H 9l 200,000& * 128 = 95% 2,280
OOtsS=EXNWA F| ZAE
220,000& = 33l 660
02 3323l 57,426 56, 184 1,242
Osdsld MEZE 11,640
Odse3a 10,000& = 23l& = 12& 240
OQHY 3EAMES 950,000& = 12& 11,400
oOXIRS 2,700,000& = 12& 32,400
Q& -ot==a 300,000& = 12& 3,600
OAOCIETV =82 15,000& = 3CH = 12& 540
Ot A& otMH 3l H| 60,000& = 13l 60
O0tsS=X& HARX o=z & 25 &8F
4,000,000 4,000
oots=XNa A=52 FRANE=S
3,135& = 1,654m 5,186
03 A2 Z Hl 66,000 66,000 0
o0tssIa T2 29
6,600,000& = 504 33,000
ots=Xa 2eHEe & =29
3,000,000& * 11& 33,000
206 M= Hl 1,699 1,747 A48
01 =8l 1,699 1,747 A48
oots=lNa 298 23 1,699
Ost&E X 34703 * 42 x 604 + 12 1,000
orMrgIIs& 1,330& = 2500 « 12& 399
O&EIITNM(EAS) 15,0003 * 200H 300
301 LPEAF 240 1,240 21,000
09 ALAHIXIE S 240 1,240 A 1,000
O0ts=X2 2I/3 soFAX =4
8,000& = 15H =« 23| 240




2N
X ZH -
L= B

el

OtsEs
ots &sat, B=
otsSEXolgtxd

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

174,000

213,400

A 39,400

174,000

213,400

A 39,400

OAlA2tOUl SRS XA
174,000,000& = 100

174,000

174,000

213,400

A 39,400

zZ W

396,858
317,167
23,788
55,903

267,345

129,513

101 Q124 4]

= Hn A

28,664
22,612
1,696
4,356

23,595

5,069

04 JIZAtNZ22XNSES

OOtsSSEAtAI 22l A JI2EH A48 (19)
28,664,000

= N W

28,664

28,664
22,612
1,696
4,356

23,595

5,069

= N W

304,241
243,393
18,255
42,593

187,414

116,827

5,000,000&

500,000& * 12¢&

©
e
1
He
=
i
H1
Pa

Ab Xl & Hl
375,000 » 12&

2= MH

20,700& = 1,0000H

©
Ofon
HT
Ja
pea}
He
Ofon

50,000& = 1094

150,000& * 3F = 43

= MW

Z W = N H

= M W

= MW

H

61,440
5,000

4,000
300
700

6,000

4,800
360
840

4,500

3,600
270
630

20,700
16,560
1,242
2,898
500
400

30

70
1,800
1,440

29,368

32,072




AN OlSESD
3 0ts s, EF

el Ot =EXJItES (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 108
Al 252
O#HHIA N2 2 A=
12,0003 * 123 * 3% * 43| 1,728
= 1,382
= 104
Al 242
O2Z A3 = 150,000& = 12 = 23| 3,600
= 2,880
< 216
Al 504
OARRZIE 4x¢
100,000& = 9Y « 43 3,600
= 2,880
< 216
Al 504
OEYAEE A EZ2=EHI
8,000& * 99 « 8Y¢ » 12& 6,912
= 5,530
< 415
Al 967
OSSR AEE M2 DSH(AEDS)
400,000& * 143 5,600
- 4,480
< 336
Al 784
OEHAEE AHEDNUS FIHdl
300,000& = 5H 1,500
= 1,200
< 90
Al 210
02 3323l 11,274 10,367 907
OSE ™LA AE S X 22l b 904,000& 904
= 723
= 54
Al 127
oO2EXE RA2cltl 600,000& = 3CH 1,800
= 1,440
< 108
Al 252
OXNsIEE 1,200,000& * 3CH 3,600
= 2,880
< 216
Al 504
OXRSXHA(SHEMNLRL S LE)
200,000& =« 3CH 600
= 480
< 36
Al 84
oZ=Exd SFHl
1,330& = 60L » 2CH * 253 3,990




AN OtSESH
3 0ts s, EF
el Ots=SEXIgtEd (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

3,192
239
559

ozsxtg MIIEHHl 50003 * 53 x 128 300
240

= Hn

= HnH
@

42
OZ3JI8&J| | 80,000& * 13 80
64

= M H
o

] 231,527 147,679 83,848
EtE T2 29 231,527,000& 231,527
185,222

,892
32,413

03 &#At2 S
ES

= W
@

202 o4 Hl 6,020 3,990 2,030
4,816
361
843

=z N H

01 SLHOHI 6,020 3,990 2,030
OEHAEBEAY HE2E LAY
30,000& » 48 * 123 1,440

1,152
86
202

= N H

QJIZHZ22X &0
20,0008 = 18 » 8% = 12& 1,920

1,536
1156
269

= N H

OEHAEBEANY 23t 0l
190,000& * 14€& 2,660

2,128
160
372

= W

301

rc
HT
>
oy

13,939 18,146 AN4,207
11,151

836
1,952

e

Z W

09 AL HI K& = 13,939 13,646 293
OXESALA #S523H| 10,0008 » 648 6,480

5,184
389
907

= MW

©
[El
Hu
I
1
He
0
>
ot
2
P}

AT
8,000 * 341 2,728
2,182
164
382

= MW




AN OlSESD
M Ots 23, B
& otsEXIIBtEd (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OZ=208 & HAEFAHX 2+4alH]
3,000& ~ 1,313H 3,939
= 3,151
< 236
Al 552
O~+HHI & &S AX =AHI|
8,000& * 3 43| 96
= 77
< 6
Al 13
O2Z A3 FAEFAT S4lHI
8,000& = 12 « 23| 192
= 154
= 12
Al 26
OASHZ BIAHAT SAlY|
8,000 » 9%« 43| 288
= 230
= 17
Al 41
O~+HHI & 3| A X 2HAHI
3,000& = 3H =« 43| 36
= 29
< 2
Al 5
O2IAdz= AESFAT 2HAH|
3,000& = 12 « 23| 72
= 58
= 4
Al 10
ONSZ BISHAT 2HAY|
3,000& * 9Y =* 43| 108
= 86
< 6
Al 16
307 2Iz2t0l A 42,000 31,100 10,900
= 33,600
= 2,520
Al 5,880
01 2L =4l 42,000 31,100 10,900
©o=dl, Adl, LM NE S
42,000,000& 42,000
= 33,600
< 2,520
Al 5,880
405 RHoHE S HI 1,994 3,100 A 1,106
= 1,595
< 120
Al 279
01 AL ESFHSH 1,994 3,100 A 1,106




AN OtSESH
3 0ts s, EF
el Ots=SEXIgtEd (Sl & &)

SN FH-SA(EN) - MBAY - BES 0l &k o4

=

M
2Hm
==
£l
Ol
0y

>

OEEAEE et ]l 1,994
O3J18&7I 1,094,000% = 1CH 1,094
875

66
163
OF[):[-U 300,000& * 3K 900
720
54
126

ﬁ
Jn

= N W

=z M H

CEHAHE deldA- Xz K& 38,180 38,270 A90

201 Let2dE] 38,180 7,030 31,150

]l 38,180 7,030 31,150

200,000 = 128 » 95% 2,280
| & AtHI 100,000& = 35&H 3,500
| Xl 2 I 40,000& = 8102 32,400

Ots=XI WAt ItA X & 1,197,192 1,152,438 44,754
598,596
179,579
419,017

= MW

101 1Al 1,197,192 1,152,438 44,754
598,596
179,579
419,017

= W

04 JIZtN 22 XS+ 1,197,192 1,152,438 44,754
OOtSSX DAHELH/SAIRZE) 12AHI(762)
1,197,192,000& 1,197,192

598,596
179,579
419,017

= M W

stiiuiciols &8 &X 331,700 0 331,700
Il 132,680
59,706
Al 139,314

2l

401 AIEHIZ 2 I 331,700 0 331,700
Il 132,680
59,706
Al 139,314

n

01 A& dl 331,700 0 331,700
osttiusiots & & X (19HA)
331,700,000& 331,700

Il 132,680
59,706
139,314

= M

H
40
10
0t
0B
0x
o
ol

246,701,704 233,126,155 13,575,549

123,485,700
89,632,417

oy




AN OlSESD
g ots &a, 2=
©el: 280 23 Us CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 33,583,587
gROIEEE NA(=12) 101,508,200 95,303,867 6,204,333
= 76,131,150
< 17,763,935
Al 7,613,115
301 LEEXZ 101,508,200 95,303,867 6,204,333
= 76,131,150
< 17,763,935
Al 7,613,115
01 MEI2EZE 405z 101,508,200 95,303,867 6,204,333
OgRZEEE XA (15,252%)
101,508,200, 000& 101,508,200
= 76,131,150
< 17,763,935
Al 7,613,115
Feltd 2 XA (=) 50,351,824 44,941,343 5,410,481
< 50,351,824
301 LEHZ 40,951,824 35,741,343 5,210,481
< 40,951,824
01 MI2EZE 06z 40,951,824 35,741,343 5,210,481
OE=s8 ¥ MRIHHI(13,553F)
40,951,824,000& 40,951,824
=) 40,951,824
307 gl2tol & 9,400,000 9,200,000 200,000
< 9,400,000
11T M SXALSE EX 9,400,000 9,200,000 200,000
O%clutd 2948I(12,638Y8) 9,400,000,000& 9,400,000
< 9,400,000
gs 22 () 11,200 14,082 A2,882
< 8,960
Al 2,240
301 LEEAS 11,200 14,082 A2,882
< 8,960
Al 2,240
01 MEIBEE 2063 11,200 14,082 A2,882
ogun® Exs X (8%) 11,200, 000& 11,200
< 8,960
Al 2,240
Heglold teEss XS (XHA) 5,513,280 5,513,280 0
308 MHXIEHSOIH 5,513,280 5,513,280 0
N 3IN2SUHUE3 LS A 5,513,280 5,513,280 0
O3M E=& XHHUXA
76,000& = 2,756 * 123 2,513,472
O4~5M EEE IHAHX A
56,000& * 4,464% * 123 2,999,808




Off &t 24

dEE
Off & 24

= N H

17,670,200
13,252,650
3,092,285
1,325,265

24,398,

921

N6,728,721

= N H

17,670,200
13,252,650
3,092,285
1,325,265

24,398,

921

N6,728,721

€(10,811¥) 17,670,200,000&

= N H

17,670,200
17,670,200

13,252,650
3,092,285
1,325,265

24,398,

921

NB,728,721

= Hn W

28,510,512
17,106,306
7,982,944
3,421,262

23,359,

356

5,151,156

= M W

280,800
168,480
78,624
33,696

280,800
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